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1. In GPS the navigation data are uploaded from several ____________
ground antenna upload station. 
â.¤.Gì. & À ÷|Â÷Påß  ÷hmhõUPÒ GÀ»õ® £» _________ uøμ 
BshõÚõ A¨÷»õm ì÷håÛÀ C¸¢x A¨÷»õm ö\´¯¨£kQÓx. 

(A) 5 m � P � band (B) 10 m � Q � band 

 5 « � ¤ � ÷£sm  10 « � Q³ � ÷£sm 

(C) 15 m � R � band (D) 10 m � S � band 
 15 « � Bº � ÷£sm  10 « � Gì � ÷£sm 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

2. Select the correct four applications of GPS 
â.¤.Gì.& ß \�¯õÚ |õßS £¯ß£õmøh ÷uº¢öukUPÄ® 

(A) Datum, Level, Surface, Fall 
 uμÄ, ©mh®, £μ¨¦, CÓUP® 

(B) Navigation, Location, Space, Marine 

 ÁÈö\¾zuÀ, Ch®, ÂsöÁÎ, PhÀ \õº¢u 

(C) Bearing, Reading, Levelling, Error  
 uõ[QPÒ, PnURk, \©ß£kzuÀ, ¤øÇPÒ 

(D) Correction, Result, Computation, Solution 
 v¸zu®, �iÄPÒ, ö©õzu PnURk, wºÄ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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3. ____________ known as a parameter (electrical quantity) that can be
varied in such a way as to convey information in GPS. 
â.¤.Gì. À _________ J¸ £õμõ «mhº G»Um�UPÀ uPÁÀPøÍ 
öPõk¨£uØS ©õÓUTk®. 

(A) Signal (B) Multimeter 

 \ªUøb  ©Ài «mhº 

(C) Data (D) Computation 
 uμÄ  PnURk 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

4. The advantages of GPS survey is  
â.¤.Gì. \º÷Á°ß |ßø©PÒ 

(A) High Precision (B) Weather Dependent 

 E¯º xÀ¼¯®  ÁõÛø» \õº¢ux 

(C) Night operation only (D) Site Intervisibility Required
 CμÄ B£÷μåß ©mk®  uÍ CøhöÁÎ ÷uøÁ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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5. In GPS observation techniques and methods, ____________ of each 
satellite are known. 
â.¤.Gì. PsPõo¨¦ ~m£[PÒ ©ØÖ® �øÓPÎÀ JÆöÁõ¸ 
ö\¯ØøPU÷PõÎß _________ AÔ¯¨£kQßÓÚ. 

(A) XY, XZ, XX coordinates 

 XY, XZ, XX J¸[Qøn¨¦ 

(B) Latitude, Longitude Coordinates 

 Am\÷μøP, wºUP÷μøP J¸[Qøn¨¦ 

(C) X, Y, Z, Coordinates  

 X, Y, Z B¯zöuõø»ÄPÒ 

(D) Observation Coordinates 
 ÷|õUSuÀ J¸[Qøn¨¦ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

6. The accuracy of point positioning with GPS averages is  
â¤Gì & ²hß ¦ÒÎ {ø»¨£kzu¼ß xÀ¼¯® \μõ\� _________ BS®.

(A) ±  10 meters (B) ±  15 meters 

 ±  10 «mhºPÒ  ±  15 «mhºPÒ 

(C) ±  17 meters (D) ±  20 meters 
 ±  17 «mhºPÒ  ±  20 «mhºPÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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7. The military derived grid system divide of UTM is ____________
meters square parts. 
³ÛÁº\À iμõßìÁºì ö©º÷Pmhº (UTM) CμõqÁzv¼¸¢x ö£Ó¨£mh 
Pmhø©¨¦ _________ «mhº CøhöÁÎ°À \xμ Pmh©õP ¤�UQÓx. 

(A) 500 m (B) 1000 m 

 500 «mhº  1000 «mhº 

(C) 2000 m (D) 3000 m 
 2000 «mhº  3000 «mhº 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

8. ____________ consists of a master control station in Colorado 
springs, Colorado with five monitor stations. 
_________ öPõ»μõ÷hõ ì¤�[ì, öPõ»μõ÷hõ I¢x ©õÛmhº {ø»¯[PøÍU 
öPõsh �ußø©U Pmk¨£õmk {ø»¯zøuU öPõskÒÍx. 

(A) Space segment  

ÁõßöÁÎ ö\Uö©sm (¤�Ä) 

(B) Control segment 
 Pmk¨£õmk ö\Uö©smPÒ (¤�Ä) 

(C) Orbit segment  
 _ØÖ£õøu ¤�Ä   

(D) User segment 
 £¯Úº ö\Uö©sm (¤�Ä) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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9. Satellites Transmit accurate time using on board  
ö\¯ØøPU ÷PõÒPÒ _________ £¯ß£kzv, xÀ¼¯©õÚ ÷|μzøu 
AÝ¨¦QßÓÚ. 

(A) Atomic clock (B) Master control station 

 Aq PiPõμ®  �ußø© Pmk¨£õmk {ø»¯®

(C) Ground antenna (D) Monitor station 
 uøμ BßöhÚõ  PsPõo¨¦ {ø»¯® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

10. The control segment of GPS is located 
â.¤.Gì. & À Pmk¨£õmk ¤�Ä _________ Aø©¢xÒÍx. 

(A) on space vehicles (B) on rockets 

 ÂsöÁÎ ÁõPÚzvÀ  μõUöPmkPÎÀ 

(C) on aircraft (D) on the ground station�s 
 Â©õÚzvÀ  uøμ {ø»¯[PÎÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

11. The ____________ segment in GPS consists of orbiting space vehicles
satellites. 
â.¤.Gì.& À EÒÍ _________ ¤�Ä ÂsöÁÎ ÁõPÚ ö\¯ØøP ÷PõÒPøÍ 
_ØÖ¨ £õøu°À C¯USQÓx. 

(A) user (B) control 

 £¯Úº  Pmk¨£õmk 

(C) space (D) computation 
 ÂsöÁÎ  PnURk 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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12. They are ____________ launched between 1978 and 1985 on
Atlas �F� rocket. 
Am»ì GL¨ (F) μõUöPmkPÎÀ 1978 ©ØÖ® 1985 US Cøh°À 

____________ ö\¯ØøPU ÷PõÒPÒ HÁ¨£mhÚ. 

(A) 09 satellites (B) 11 satellites 

 09 ö\¯ØøPU÷PõÒPÒ  11 ö\¯ØøPU÷PõÒPÒ 

(C) 15 satellites (D) 17 satellites 
 15 ö\¯ØøPU÷PõÒPÒ  17 ö\¯ØøPU÷PõÒPÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

13. The three segments of the GPS system are the space, user and the  
â.¤.Gì Aø©¨¤ß �ßÖ ¤�ÄPÒ Ch®, £¯Úº ©ØÖ® 

(A) Interface (B) Human 

 Cøh�P ¤�Ä  ©Ûu ¤�Ä 

(C) Control (D) Computer 
 Pmk¨£õmk ¤�Ä  PoÛ ¤�Ä 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

14. ____________ country developed the GPS. 
_________ |õk â.¤.Gì. I E¸ÁõUQ¯x. 

(A) USA (B) India 

 Aö©�UPõ  C¢v¯õ 

(C) Russia (D) Italy 
 μè¯õ  Czuõ¼ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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15. IRNSS satellites expansion 
IRNSS ß Â�ÁõUP®  

(A) Indian Regional Navigation Satellite System  
 C¢v¯ß ©sh» ÁÈ ö\¯ØøPU÷PõÒ Aø©¨¦ 

(B) Indian Real Nagpur Satellite System 

 C¢v¯ß Esø© |õU§º ö\¯ØøPU÷PõÒ Aø©¨¦ 

(C) Indian Regional Nature Service System  
 C¢v¯ß ©sh» ÷|a\º \ºÃì Aø©¨¦ 

(D) Indian Reserve Neutral Satellite System 
 C¢v¯ß C¸¨¦ |k{ø» ö\¯ØøPU÷PõÒ Aø©¨¦ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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16. Select the correct statement in following (accurates in GPS) : 
¤ßÁ¸® ÁõUQ¯[PÎÀ \�¯õÚÁØøÓ ÷uº¢öukUP. (â.¤.Gì.
xÀ¼¯zvØPõÚøÁ) 
(i) For a soldier in the field enough to accurate 10 meters  
 J¸ ]¨£õ´US _©õº 10 «mh¸USÒ C¸US® {ø» ÷£õx©õÚuõP 

C¸US® 
(ii) For a ship in coastal waters accuracy on the order of 5 meters  
 Ph÷»õμ }�À J¸ P¨£¾US _©õº 5 «mhº xÀ¼¯® ÷£õx©õÚuõP 

C¸US® 
(iii) For a land survey field work accuracy distance in a men

30 meters   
 {» AÍøÁPÒ ö\´²® ©ÛuÝUS 30 «mhº yμ® xÀ¼¯©õÚ 

AÍøÁ öPõkUS® 
(iv) For a geodetic land surveying however accuracy requirements

are 1 centimeter  

 â÷¯õöhiU {» AÍÃmiØS xÀ¼¯® 1 ö\ßi«mhº ÷£õx©õÚuõP 
C¸US® 

(A) (i) and (iv) is correct (B) (i), (ii) and (iv) is correct 

 (i) ©ØÖ® (iv) \�  (i), (ii) ©ØÖ® (iv) \� 

(C) (i), (iv), (ii) is correct (D) (ii), (iii), (iv) is correct 
 (i), (iv) ©ØÖ® (ii) \�  (ii), (iii) ©ØÖ® (iv) \� 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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17. Starting a GPS survey decide which ������� system to use. 
â.¤.Gì. PnUöPk¨ø£ öuõh[SÁuØS �ß _________ Aø©¨ø£ 
£¯ß£kzu ÷Ásk® Gß£øuz wº©õÛUPÄ®. 

(A) Traversing  (B) Orientation  
 ¦ÒÎ°À öuõh[Q £¯ozu  ÷|õUS® {ø»ø¯ £¯ß£kzv

(C) Co-Ordinate (D) Co-efficient  
 J¸[Qøn¨¦  Cøn ö\¯ÀvÓß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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18. Assertion [A]  : GPS is a satellite based navigation system 
made up of a network 24 satellites placed
into orbit. 

EÖv£hUTÓÀ [A]  :  E»PÍÂÀ {ø»£õk ]ìh® Gß£x
÷\miø»miøÚ Ai¨£øh¯õP öPõshx.
÷|Â÷Påß ]ìh® ö|möÁõºU

24 ÷\miø»mPøÍ Bº¤miÀ öPõshx.  

Reason [R]   :  It possible to non precisely identify locations
on earth by measuring the distance from the
receiver. 

Põμn® [R]   :  �]Áº �»® yμzøu AÍÂkÁuß �»® §ª°À
EÒÍ Ch[PøÍ xÀ¼¯©õP Aøh¯õÍ® Põn
�i²®.

(A) [A] is False but [R] is True 

 [A] uÁÖ BÚõÀ [R]  \� 

(B) [A] is True but [R] is False  

 [A] \� BÚõÀ [R] uÁÖ 

(C) Both [A] and [R] is True 

 [A] ©ØÖ® [R] Cμsk® \� 

(D) Both [A] and [R] is True but [R] is not correct explanation 
of [A] 

 [A] ©ØÖ® [R] Cμsk® \�, Czxhß [R] Gß£x [A] ß \�¯õÚ 
ÂÍUP® AÀ» 

(E) Answer not known 
  Âøh öu�¯ÂÀø» 
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19. ����������� instrument identify the geodetic control and plate 
tectonic studies. 
_________ P¸Â â÷¯õöhiU Pmk¨£õmøh Aøh¯õÍ® Põs£uØS® 
öhU÷hõÛU umk £ØÔ B´Ä ö\´ÁuØS® £¯ß£kQÓx. 

(A) Total station (B) Trone 

 ö©õzu {ø»¯®  m÷μõß 

(C) GPS (D) Receiver 
 â.¤.Gì.  �]Áº 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

20. Consider the following statement relations to the GPS : 
â.¤.Gì. öuõhº£õÚ ¤ßÁ¸® TØÖPøÍ Bμõ´P. 

(I) GPS calculate the speed, bearing, trip distance sunrise and 
sunset time. 

 â.¤.Gì. ÷ÁP®, uõ[S® vÓß, £¯n yμ®, `�¯ Eu¯® ©ØÖ® 
Aìu©Ú® PnUQkQÓx. 

(II) Lesser time to complete the survey and survey with great 
precision of these. 

 SøÓÁõÚ ÷|μzvÀ PnUöPk¨ø£ �iUP»õ® ©ØÖ® ªP 
xÀ¼¯©õÚ B´ÄPÐUS £¯ÚÎUS®  

 CÁØÖÒ 

(A) (I) is true (B) (II) is true 

 (I) ©mk® \�¯õÚx  (II) ©mk® \�¯õÚx 

(C) (I) and (II) are true (D) (I) and (II) are false 
 (I) ©ØÖ® (II)  \�¯õÚx  (I) ©ØÖ® (II)  uÁÓõÚx 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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21. The thickness of top layer or wearing coat of a bitumen or tar
concrete varies from  
uõº PõßQ�miß ÷©À AkUS AÀ»x ÷Á�[ ÷Põmiß ui©ß _____________
BS®. 

(A) 1 cm to 1.5 cms  

 1 ö\.«. �uÀ 1.5 ö\.« Áøμ   

(B) 2 cms to 2.5 cms  
 2 ö\.«. �uÀ 2.5 ö\.« Áøμ 

(C) 3 cms to 3.5 cms  
 3 ö\.«. �uÀ 3.5 ö\.« Áøμ   

(D) 4 cms to 4.5 cms  
 4 ö\.«. �uÀ 4.5 ö\.« Áøμ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

22. __________ to enable free movement of Traffic around an urban area.
_»£©õÚ ÷£õUSÁμzxUPõP |Pº¦Ózøu _ØÔ __________ ÷£õh¨£kQÓx. 

(A) Highway (B) Ring Road 

 ö|kg\õø»  Ámha \õø» 

(C) Expressway (D) Motorway 
 ÂøμÄa \õø»  ÁõPÚa \õø» 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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23. Match the following : 
¤ßÁ¸ÁÚÁØøÓ ö£õ¸zxP : 
(a) Sub base 1. Cross drainage 
 xøn Aø©¨¦  SÖUS ÁiPõÀ 
(b) Cause way 2. Over the soiling 
 Põì ÷Á  ©s uøμ°ß «x ÷£õkÁx 
(c) Base course 3. Foundation layer 
 �UQ¯ Aø©¨¦  AìvÁõμ AkUS 
(d) Wearing course 4. Carpet 
 ÷©À Aø©¨¦  P®£Í®  

 (a) (b) (c) (d) 
(A) 2 1 3 4    
(B) 4 2 1 3     
(C) 1 2 3 4    
(D) 3 1 2 4    
(E) Answer not known 
 Âøh öu�¯ÂÀø» 

24. Choose, 

After certain length of straight routes, a slight bend should be 
provided to break the ___________ and keep the drivers alert.  
÷uºÄ ö\´, 

÷|μõÚ £õøuPÎß SÔ¨¤mh }ÍzvØUS¨ ¤ÓS ]Ô¯ ÁøÍÄ öPõk¨£h 
÷Ásk®. Cx ������ uÂºUP, KmkÚºPøÍ ÂÈ¨¦hß øÁzv¸UP 
EuÄQÓx. 

(A) Speed (B) Sleep 

 ÷ÁPzøu  yUPzøu 

(C) Tired (D) Monotony  
 ÷\õºøÁ  ÷©õ÷Úõ÷hõÛø¯  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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25. Choose, 

Aerial photographs may be taken on a scale of   
÷uº¢öukUPÄ®, 
ÁõßÁÈ ¦øP¨£h[PÒ G¢u ì÷P¼À GkUP¨£h»õ®. 
(A) 1 : 20,000 to 1 : 50,000 (B) 1 : 10,000 to 1 : 20,000 
(C) 1 : 5,000 to 1 : 10,000 (D) 1 : 1,000 to 1 : 5,000 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

26. During preliminary survey, the cross section taken at about 
________ interval in Rolling Terrain.  
§ºÁõ[P B´Âß ÷£õx, ÷©k £ÒÍ©õÚ {»¨£μ¨¤À ������
CøhöÁÎ°À SÖUS öÁmk ÷uõØÓ® GkUP¨£h ÷Ásk®. 

(A) 50 m (B) 75 m 

 50 «  75 « 

(C) 100 m (D) 125 m 
 100 «  125 « 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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27. Among the following identify which is not related to reconnaissance
survey 
¤ßÁ¸ÁÚÁØÔÀ, EÍÄ B´Ä PnUöPk¨¦hß öuõhº¦ CÀ»õuÁØøÓ 
PshÔ¯Ä®. 

(A) Detailed levelling  

 Â�ÁõÚ ö»Á¼[    

(B) Value of land 
 {»zvß ©v¨¦ 

(C) Climatic conditions  
 Põ»{ø»PÒ   

(D) Terrain and soil condition   
 {»¨£μ¨¦ ©ØÖ® ©soß ußø©  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

28. ___________ road is not according to importance.  
Gx RÌUPsh \õø» �UQ¯zxÁ® ¤�Âß RÌ Áμõx. 

(A) Class I roads (B) Class II roads 

 �uÀ ÁS¨¦a \õø»  Cμõshõ® ÁS¨¦a \õø» 

(C) Class III roads (D) Class IV roads 
 �ßÓõ® ÁS¨¦a \õø»  |õßPõ® ÁS¨¦a \õø» 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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29. ___________ roads serving areas of production and markets, industries,
residential areas, railway stations and airports etc.  
������ \õø»PÒ EØ£zv ©ØÖ® \¢øuPÒ, öuõÈØ\õø»PÒ, Si°¸¨¦ 
£SvPÒ, μ°À {ø»¯[PÒ ©ØÖ® Â©õÚ {ø»¯[PÒ ÁÈ¯õP ö\ÀQßÓÚ.

(A) National Highways (B) State Highways 

 ÷u]¯ ö|kg\õø»PÒ  ©õ{» ö|kg\õø»PÒ 

(C) District Roads (D) Village Roads 
 ©õÁmh \õø»PÒ  Qμõ© \õø»PÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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30. Consider the following statements : 
¤ßÁ¸® TØÖUPøÍ P¸zvÀ öPõÒP : 
1. National Highways connecting foreign highways 
 ÷u]¯ ö|kg\õø»PÒ öÁÎ|õmk \õø»PøÍ CønUQÓx 

2. State Highways connecting district head quarters 
 ©õ{» ö|kg\õø»PÒ ©õÁmh uø» |Pμ[PøÍ CønUQÓx 

3. The specifications of the major district roads are not same as of 
state highways  

 �UQ¯ ©õÁmh \õø»PÎß ÂÁμUSÔ¨¦ ©õ{» ö|kg\õø»PÎß 
ÂÁμUSÔ¨¦ ÷£õÀ CÀø» 

4. Many of other district roads remain closed due to the traffic 
during Monsoon  

 £» ©õÁmh \õø»PÎÀ ©øÇUPõ»zvÀ ÷£õUSÁμzx {Özu¨£kQÓx.

(A) 1, 2  and 3 are correct  

 1, 2  ©ØÖ® 3 \�    

(B) 2, 3  and 4 are correct  

 2, 3  ©ØÖ® 4 \� 

(C) 1, 2  and 4 are correct   
 1, 2  ©ØÖ® 4 \�   

(D) 1, 3  and 4 are correct  

 1, 3  ©ØÖ® 4 \� 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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31. The frame limiting the drawing space should be executed with
continuous thin line of ___________ mm. 
Áøμ£hzvß C¸¨¤hzøu Áøμ¯øÓ ö\´²® L¨¤÷μø© öuõha]¯õÚ 
ö©À¼¯÷Põk ___________ ª« AÍÂÀ C¸UP ÷Ásk®. 

(A) 0.8 (B) 0.7 

(C) 0.6 (D) 0.5 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

32. The area of AO designation drawing sheet is  
AO ß Áøμ¨£hzuõÎß £μ¨£ÍÄ  

(A) 0.25 m2 (B) 0.125 m2 

 0.25 \xμ«mhº  0.125 \xμ«mhº 

(C) 1 m2 (D) 0.5 m2 
 1 \xμ«mhº  0.5 \xμ«mhº 

(E) Answer not known 
 Âøh öu�¯ÂÀø»

33. One of the orientation marks always points ___________ the 
draughtsman.  
÷|õUS{ø»U SÔPÎÀ JßÖ G¨÷£õx® ÁøμÁõÍøμ ___________ ö\ÀQÓx.

(A) Towards  (B) Upwards 

 ÷|õUQ  ÷©À÷|õUQ 

(C) Downward (D) Forwards  
 RÌ÷|õUQ  �ß÷ÚõUQ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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34. ___________ should be located at right hand bottom of the sheet. 
___________ Áøμ£hzuõÎß RÌÁ»x Aø©¢v¸UP ÷Ásk®. 

(A) Title block (B) Grid 

 uø»¨¦z öuõSv  Pmh® 

(C) Border (D) Layout  
 £UP Â»US  uÍÁø©¨¦ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

35. The standard line thickness of the border is  
Áøμ¨£h[PÎß £UPÂ»US ÷Põmiß ui©ß  

(A) 0.30 mm (B) 0.40 mm 

 0.30 ªÀ¼ «mhº  0.40 ªÀ¼ «mhº 

(C) 0.50 mm (D) 0.60 mm 
 0.50 ªÀ¼ «mhº  0.60 ªÀ¼ «mhº 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

36. ___________ to determine the natural and artificial features on the
earth. 
§ª°ß «xÒÍ C¯ØøP¯õÚ ©ØÖ® ö\¯ØøP¯õÚ A®\[PøÍz wº©õÛUP 
___________ EuÄQÓx.  

(A) Topographical map (B) Topographical survey  
 ÷hõ¨÷£õQμõL¤UPÀ ÷©¨  ÷hõ¨÷£õQμõL¤UPÀ \º÷Á 

(C) Astronomical survey (D) Geological survey 
 Aì÷μõ÷|õªUPÀ \º÷Á  â÷¯õ»âUPÀ \º÷Á 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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37. FMB expansion is  
FMB ß Â�ÁõUP® 

(A) Field Measurement Book (B) Field Metropolitan Book 

 ¦» AÍÃmk ¦zuP®  ¦» ö£¸|Pμ ¦zuP® 

(C) Field Main Book (D) Field Material Book  
 ¦» �UQ¯ ¦zuP®  ¦» ö£õ¸Ò ¦zuP® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

38. The survey in which the curvature of earth is taken into account is
known as  
§ª°ß ÁøÍøÁU PnUQÀ öPõsk ÷©ØöPõÒÍ¨£k® \º÷ÁUS 

________ GßÖ ö£¯º. 

(A) Engineering Surveying (B) City Surveying 

 ö£õÔ°¯À \º÷Á°[  ]mi \º÷Á°[ 

(C) Plane Surveying (D) Geodetic Surveying 
 ¤÷Íß \º÷Á°[  â÷¯õöhiU \º÷Á°[ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

39. ________ Survey in which to collect the details of cyclonic affected
areas, flooded areas. 
________ \º÷Á, ¦¯»õÀ £õvUP¨£mh Ch[PÎß ÷\u[PÒ, öÁÒÍzuõÀ 
`Ç¨£mh £SvPÎß Â£μ[PøÍ ÷\P�UP¨£kQÓx. 

(A) Aerial (B) Marine 

 H�¯À  ö©�ß 

(C) Cadastral (D) Astronomical  
 PhìmμÀ  Aì÷μõ÷|õªUPÀ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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40. ________ survey deals in unearthing the relics of the past. 
§ª°À ¦øu¢xÒÍ £Ç[Põ» bõ£Pa ]ßÚ[PøÍ PshÔ¯ ________ 
\º÷Á EuÄQÓx. 

(A) Geological (B) Archaeological 

 â÷¯õ»âUPÀ  BºUPõ»âUPÀ 

(C) Military (D) Cadastral  
 ª¼mh�  PhìmμÀ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

41. ______________ is a town planning main drawing. 
______________ Gß£x J¸ |Pμzvß ¤μuõÚ Áøμ£h©õS®. 

(A) Master plan (B) Topo plan 

 ©õìhº ¨Íõß  ÷hõ÷£õ ¨Íõß 

(C) Site plan (D) Service plan 
 ø\m ¨Íõß  \ºÃì ¨Íõß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

42. Vertical and inclined lines are drawn with help of  
______________ EuÂ²hß ö\[Szx ©ØÖ® \õ´¢u ÷PõkPÒ 
Áøμ¯¨£kQßÓÚ. 

(A) Set square (B) Tec. square 

 öém ìöPõ¯º  Tec. ìöPõ¯º 

(C) Scale (D) Protractor 
 AÍÄ÷PõÀ  £õøP©õÛ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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43. ______________ pencil used for construction lines, Dimensions lines,
section lines and center lines. 
______________ ö£ß]ÀPÒ Pmk©õÚU ÷PõkPÒ, £�©õnU ÷PõkPÒ, ¤ÍÄU 
÷PõkPÒ ©ØÖ® ø©¯U ÷PõkPÐUS¨ £¯ß£kzu¨£kQßÓÚ. 

(A) H (B) 2H 

(C) HB (D) 2B 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

44. ______________ pencils used for shading. 
______________ ö£ß]ÀPÒ {Ç¾US £¯ß£kzu¨£kQÓx. 

(A) H (B) B 

(C) 2H (D) 2B 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

45. One width to length ratio of drawing sheet is 
ÁøμzuõÎß AP»zvØS® }ÍzvØS�ÒÍ ÂQu® 

(A) 2:1  (B) 1:2 

(C) 1:1 (D) 1:4 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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46. When only one figure is to be drawn on a sheet it should be drawn in
the ______________ of the working space. 
J÷μ uõÎÀ J÷μ J¸ E¸Ázøu ©mk÷© Áøμ¯ ÷Ási°¸¢uõÀ, Ax 
÷Áø» ö\´²® Chzvß ______________ Áøμ¯¨£h ÷Ásk®. 

(A) Centre (B) Corner 

 ø©¯zvÀ  �ø»°À 

(C) Right (D) Left 
 Á»vÀ  ChvÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

47. The zones along the width of the sheet are designated by  
uõÎß AP»zvÀ EÒÍ ©sh»[PÒ ______________ SÔUP¨£kQßÓÚ. 

(A) Letters (B) Numerals 

 GÊzxUPÍõÀ  GsPÍõÀ 

(C) Sign (D) Colours 
 Aøh¯õÍ®  {Ó[PÍõÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

48. After folding the height of drawing sheet should be 
©izu ¤ÓS ÁøμuÀ uõÒPÎß E¯μ® ______________ BP C¸UP÷Ásk®. 

(A) 297 mm (B) 120 mm 

 297 ª«  120 ª« 

(C) 150 mm (D) 210 mm 
 150 ª«  210 ª« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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49. A2 size (594 × 420 mm) Drawing sheet 2nd folding is 
A2 AÍÄ (594 × 420 ª«) EÒÍ Áøμ£hzuõÎß CμshõÁx ©i¨¦ 
______________ BS®. 

(A) 162 mm (B) 172 mm 

 162 ª«  172 ª« 

(C) 182 mm (D) 192 mm 
 182 ª«  192 ª« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

50. A2 size drawing sheet first folding is 
A2 AÍÄ Áøμ£hzuõÎß �uÀ ©i¨¦ ______________ BS®. 

(A) 210 mm (B) 212 mm 

 210 ª«  212 ª« 

(C) 213 mm (D) 214 mm 
 213 ª«  214 ª« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

51. The size of the arrowheads should be ______________ to the size of the 
drawing. 
A®¦U SÔPÎß AÍÄ Áøμ£hzvß AÍÂØS ______________ C¸UP 
÷Ásk®. 

(A) Proportionate (B) Equivalent 

 ÂQuõ\õμ©õP  \©©õÚuõP 

(C) Smallest (D) Enlarged 
 ªPa]Ô¯uõP  ö£�¯uõP¨£mhuõP 

(E) Answer not known 
 Âøh öu�¯ÂÀø»  
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52. Oblique stroke is drawn as a short line inclined at ______________

degree. 
\õ´¢u ÷Põk ______________ iQ� \õ´ÁõP J¸ SÖQ¯ ÷PõhõP 
Áøμ¯¨£kQÓx. 

(A) 360° (B) 270° 

(C) 180° (D) 45° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

53. Diagonal scale are used for the measurement to represent 
�ø»Âmh AÍÄ÷PõÀ AÍÂh ______________ £¯ß£kQÓx. 

(A) One unit (B) Two units 

 J¸ A»S  Cμsk A»SPÒ 

(C) Three units (D) Four units 
 �ßÖ A»SPÒ  |õßS A»SPÒ

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

54. The reduced scale of a drawing is 
J¸ Áøμ£hzvß SøÓUP¨£mh AÍÄ 

(A) 1 : 1 (B) 1 : 2 

(C) 2 : 1 (D) 5 : 1 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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55. The smallest measurement that can be taken on the main scale is
called 
ö©°ß ì÷P¼À GkUPUTi¯ ªPa]Ô¯ AÍÃk ______________ GßÖ 
AøÇUP¨£kQÓx. 

(A) MSD (B) SMD 

(C) DMS (D) MDS 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

56. 12 mm diameter round bars weight/m is 
12 ª« Âmh® EÒÍ E¸øÍ P®¤°ß Gøh/«mhº GÆÁÍÄ? 

(A) 0.39 kg/m (B) 0.62 kg/m 

 0.39 QQ/«mhº  0.62 QQ/«mhº 

(C) 0.89 kg/m (D) 1.58 kg/m 
 0.89 QQ/«mhº  1.58 QQ/«mhº 

(E) Answer not known 
 Âøh öu�¯ÂÀø»

57. In reinforced cement concrete, steel bars cranked at an angle of 
Á¾Åmh¨£mh ]ö©sm Põ[Q�miÀ ìjÀ P®¤PÎß ÁøÍzu¼ß 
÷Põn® 

(A) 10° (B) 15° 

(C) 30° (D) 45° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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58. Minimum diameter of main bar provided in a beam is 
J¸ ¥ªÀ �ußø©¯õÚ AÀ»x ¤μuõÚ P®¤°ß SøÓ¢u AÍÄ Âmh® 
______________ ÁÇ[P¨£h ÷Ásk®. 

(A) 6 mm (B) 8 mm 

 6 ª«  8 ª« 

(C) 10 mm (D) 12 mm 
 10 ª«  12 ª« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

59. Grade � 33 cement defining compressive strength in  
______________ |õmPÎÀ 33 uμ ]ö©siß �Êø©¯õÚ AÊzu Á¼ø© 
Aøh²®. 

(A) 7 days (B) 14 days 

 7 |õmPÒ  14 |õmPÒ 

(C) 20 days (D) 28 days 
 20 |õmPÒ  28 |õmPÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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60. A Two way slab provision of torsion reinforcement must be provided
at the   
C¸ÁÈ ì»õ¨¤ØS hõº\ß Á¾ÅmhÀ ______________ Psi¨£õP ÁÇ[P£h 
÷Ásk®. 

(A) Left side (B) Right side 

 Chx £Sv°À  Á»x £Sv°À 

(C) Middle (D) All corners 
 |k¨£Sv°À  AøÚzx �ø» £Sv°¾® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

61. Columns with have lengths less than ____________ times their
respective diameters or slenderness ratio less than 32 are called
short columns 
____________ ©h[S }ÍzvØS SøÓÁõÚ ysPÒ A»øÁPÎß 
Âmh[PÒ AÀ»x ö©À¼¯ ußø© ÂQu® 32&US SøÓÁõP C¸¢uõÀ 
SøÓ¢u E¯μ�ÒÍ ysPÒ GÚ AøÇUP¨£kQßÓx 

(A) 2 times (B) 4 times 

 2 ©h[S  4 ©h[S 

(C) 6 times (D) 8 times 
 6 ©h[S  8 ©h[S 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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62. The minimum depth of a fixed beam should be 
J¸ Aø\¯õu ¥ªß SøÓ¢u£m\ ui©ß 

(A) Span/10 (B) Span/20 

 CøhöÁÎ/10  CøhöÁÎ/20 

(C) Span/26 (D) Span/30 
 CøhöÁÎ/26  CøhöÁÎ/30 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

63. The maximum diameter of the reinforcing bar shall not be exceed
____________ of the total thickness of the slab. 
Á¾Åmk® P®¤°ß AvP£m\ Âmh® ì»õ¨¤ß ö©õzu ui©ÛÀ 
���������� £[QØS ÷©À C¸UPU Thõx 

(A) One eighth (B) One seventh
 GmiÀ J¸ £[S  HÈÀ J¸ £[S 

(C) One fifth (D) One third 
 I¢vÀ J¸ £[S  �ßÔÀ J¸ £[S 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

64. Lap in vertical bars ____________ of longitudinal bar. 
ö\[Szx P®¤PÎß ÷»¨ ____________ EÒÍ }Í©õÚ £õº. 

(A) 24 × dia (B) 30 × dia 

 24 × Âmh®  30 × Âmh® 

(C) 35 × dia (D) 40 × dia 
 35 × Âmh®  40 × Âmh® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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65. Match the following � cover in reinforcement : 
RÌPshÁØøÓ ö£õ¸zxP : 
(a) Clear cover at the ends of bars 1. 15 mm  
 P®¤°ß �iÂÀ Q¼¯º PÁº  15 ª« 
(b) Clear cover of slabs   2. 50 mm  
 ]»õ¨&ß Q¼¯º PÁº    50 ª« 
(c) Clear cover of columns  3. 40 mm  
 ys Q¼¯º PÁº    40 ª« 
(d) Clear cover for foundation slab 4. 25 mm 
 and beams  
 AìvÁõμzvÀ ]»õ¨ ©ØÖ®  25 ª« 
 ¥®PÎÀ Q¼¯º PÁº 

 (a) (b) (c) (d) 
(A) 4 1 3 2    
(B) 2 3 4 1     
(C) 3 4 1 2    
(D) 1 3 2 4    
(E) Answer not known 
  Âøh öu�¯ÂÀø» 

66. Methods of site exploration ____________ method is possible to
examine the ground for a maximum depth of 3 meter. 
{»® B´u¼ß ÁÈPÎÀ ____________ ÁÈ�øÓ°À {»zvÀ 

AvP¨£m\® 3 «mhº BÇ® Áøμ ÷\õuøÚ ö\´¯»õ®  

(A) Open excavation (B) Probing 

 ÷\õuøÚ SÈ  ÷uõsi B´uÀ 

(C) Auger boring (D) Deep boring 
 xμ¨£nz xøÍ±k  BÇ©õÚ xøÍ°kuÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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67. ____________ method is most commonly adopted to ascertain the
depth at which useful minerals and oil are available. 
£¯ÝÒÍ uõxUPÒ ©ØÖ® Gsön´ QøhUPUTi¯ BÇzøu EÖv¨£kzu 
���������� �øÓ ö£õxÁõP HØÖUöPõÒÍ¨£kQÓx. 

(A) Electrical resistivity (B) Sub-surface sounding 

 ªß\õμ uøhzvÓß  RÌ&£μ¨¦ J¼ 

(C) Deep boring (D) Auger boring 
 BÇ©õÚ xøÍ°kuÀ  xμ¨£nz xøÍ±k 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

68. Depth of foundation generally determined by the Rankine�s formula-
=d  

ö£õxÁõP ÷μßQßì `zvμzvß £i AìvÁõμzvß BÇ©õÚx =d  
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(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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69. The depth of concrete block below the masonry footing is also 
determined by the formula =d  
Pmk©õÚ PiUPõ¼ß R÷Ç Põ[Q�m ¤ÍõUQß BÇzøu wº©õÛUP EuÄ® 
`zvμ® =d  

(A) Td
6
5=  (B) Td

5
6=  

(C) ( ) 25/6 Td=  (D) ( )2JTd +=  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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70. Match the following : 
RÌPshÁØøÓ ö£õ¸zxP : 
 Failure of foundation   Remedies 
 AìvÁõμzvß £õv¨¦PÒ   wºÄPÒ 
(a) Transpiration of trees  1. Provide sufficient 

wide base   
 ©μ[PÒ iμõßì¤÷μåß ö\´uÀ  ÷£õx©õÚ AP»©õÚ 

Ai¨£õPzøu 
öPõkUP ÷Ásk® 

(b) Horizontal movement of the earth 2. Foundation should 
be sufficiently deep 

 §ª°ß Qøh©mh |P¸uÀ  AìvÁõμ® 
÷£õx©õÚ AÍÂØS 
BÇzvÀ C¸UP 
÷Ásk® 

(c) Unequal settlement of the masonry 3. Construct retaining 
walls to prevent the 
escape of earth  

 Pmk©õÚzvß \©©ØÓ {ø»  §ª |P¸Áøu ukUP 
uõ[S _ÁºPÒ Pmh 
÷Ásk® 

(d) Lateral pressure on the  4. Masonry work 
super structure     should be raised  
     evenly  

 ÷©ØPmhø©¨¤À ¦Ó AÊzu®  Pmk©õÚ ÷Áø» ^μõP 
E¯ºzu¨£h ÷Ásk®

 (a) (b) (c) (d) 
(A) 2 3 4 1     
(B) 3 4 2 1      
(C) 4 2 1 3     
(D) 1 3 2 4     
(E) Answer not known 
  Âøh öu�¯ÂÀø» 



490-SURVEYOR AND    
DRAUGHTSMAN(CIVIL) 
 

36

71. ____________ are generally use in granular soil when the depth of
hard strata is very great. 
���������� ö£õxÁõP PiÚ©õÚ AkUS ªP BÇzvÀ C¸¢uõÀ QμõÝ»º 
©soÀ £¯ß£kzu»õ® 

(A) End bearing piles (B) Friction piles 

 CÖv uõ[S® {»zysPÒ  Eμõ´Ä {»zysPÒ 

(C) Compaction piles (D) Sheet piles 
 Põ®£õU\ß {»zysPÒ  çm {»zysPÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

72. Precast concrete piles concrete cover of atleast ____________ is
provided. 
�ß Áõº¨¦ PõßQ�m {»zysPÎß PõßQ�m PÁº SøÓ¢u£m\® 

____________ öPõkUP£h ÷Ásk® 

(A) 20 mm (B) 30 mm 

 20 ª«  30 ª« 

(C) 40 mm (D) 50 mm 
 40 ª«  50 ª« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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73. A timber pile is made of ____________ is common Indian tree not
used. 
öÁmk ©μ {»zysPÒ ö\´¯¨£h ö£õxÁõP E£÷¯õP¨£hõu C¢v¯ß 
öÁmk ©μ®  

(A) Teak tree (B) Sal tree
 ÷uUS ©μ®  \õÀ ©μ® 

(C) Babool tree (D) Banyan tree 
 £õ¨§À ©μ®  B» ©μ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

74. Choose the correct statements : 
\�¯õÚ TØøÓ ÷uº¢öukUP : 

Following are the Disadvantage of the tube steel piles. 
RÌPshÁØÔÀ ìjÀ SÇõ´ {»zys&ß wø©¯õÚx. 

(A) Corrosion the steel pile 
 ìjÀ {»zyoß SøÓ£õk&A�¨¦ 

(B) These piles with sand easily the stresses due to driving  
 CÆÁøP {»zysPøÍ ö\¾zvÚõÀ HØ£k® uøμ ÂøÚø¯ uõ[Q 

{ØS® 

(C) The extra length of these piles can be cut off easily  
 Cuß E£� }Í® _»£©õP öÁmi GkUP¨£h»õ® 

(D) These piles can be handled roughly without any serious 
damage 

 C¢u {»zysPÒ G¢u £õv¨¦® CÀ»õ©À ÷uõμõ¯©õP C¯UP»õ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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75. Choose the wrong answer. 
uÁÓõÚ £vø» ÷uºÄ ö\´P. 

To give enough lateral stability to the structures against various 
disturbing horizontal forces 
£À÷ÁÖ Cøh³Ö ÂøÍÂUS® Qøh©mh \UvPÐUS GvμõP 
Pmhø©¨¦PÐUS ÷£õx©õÚ £UP Áõmk {ø»zußø© öPõkUQÓx 

(A) Wind (B) Rain 

 PõØÖ  ©øÇ 

(C) Earth quake (D) Sun 
 {» AvºÄ  `�¯ß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

76. Find the magnetic declination if the magnetic bearing of the sun at
noon is 354°
|s£P¼À `�¯Ûß Põ¢u ÷£�[ BÚx 354° BP C¸¢uõÀ, Põ¢u \�øÁ 
Psk¤iUPÄ® 

(A) 6°S (B) 6°N 

(C) 6°W (D) 6°E 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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77. Variations in declination in compass surveying irregular variations
are occurred by magnetic storm such as earth quakes or volcanic
eruptions and their amount may be even _______ at a time.  
Põ®£ì \º÷Á°[Qß \�ÂÀ ©õÖ£õkPÎÀ ^μØÓ ©õÖ£õkPÒ Põ¢u 
¦¯ÀPÍõÀ AuõÁx {»|kUP® AÀ»x G�©ø» öÁizxa ]uÓÀ 
÷£õßÓøÁ¯õP {PÌQÓx. Cuß AÍÄ J¸ ÷|μzvÀ ������ BP 
C¸UP»õ®. 

(A) 1° or 2° (B) 1° or 3° 

 1° AÀ»x 2°  1° AÀ»x 3° 

(C) 1° or 4° (D) 1° or 5° 
1° AÀ»x 4° 1° AÀ»x 5°

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

78. A line was drawn an its magnetic bearing 212° on an old map if the 
magnetic declination was 4°W, to what bearing should if be set now
if the present declination is 10°E  
Põ¢u \�Ä 4°W BP C¸¢u÷£õx, Põ¢u ÷£�[ 212°ø¯ öPõsk £øÇ¯ 

÷©¨ «x J¸ ÷Põk Áøμ¯¨£mhx. uØ÷£õøu¯ Põ¢u \�Ä 10°E BP 
C¸¢uõÀ GßÚ ÷£�[ C¨÷£õx Aø©UP¨£h ÷Ásk®?  

(A) 208° (B) 198° 

(C) 216° (D) 226° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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79. In compass surveying the horizontal angle which the magnetic
meridian makes with the true meridian is known as  
Põ®£ì \º÷Á°[QÀ Põ¢u ö©�i¯ß BÚx m¸ ö©�i¯Ýhß E¸ÁõUS® 
Qøh©mhU ÷Põn® ������ GÚ AÔ¯¨£kQÓx. 

(A) Magnetic declination (B) Magnetic bearing 

 Põ¢ua \�Ä   Põ¢u ÷£�[ 

(C) Magnetic meridian  (D) True bearing  
 Põ¢u ö©�i¯ß  Esø©¯õÚ ÷£�[ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

80. The following bearings are given in quadrantal systems of lines
AB and AC. Calculate in each case the angle BAC . 

Line AB = E03N25 ′  

Line AC = E03S85 ′  

PõÀÁmh �øÓ°À, AB ©ØÖ® AC BQ¯ ÷PõkPÎß ÷£�[SPÒ 
öPõkUP¨£mkÒÍx. JÆöÁõßÔØS® ÷Põn® BAC  ø¯ PnUQk. 

AB&°ß ÷Põk = E03N25 ′  

AC&°ß ÷Põk = E03S85 ′  

(A) 00291 ′  (B) 00180 ′  

(C) 00111 ′  (D) 0069 ′  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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81. In compass surveying if the closing error exceeds permissible limit
the field work is �������. 
Põ®£ì \º÷Á°[QÀ �k® ¤øÇ (closing error) BÚx AÝ©vUP¨£mh 
Áμ®ø£ Âh AvP©õÚõÀ, PÍ®£o BÚx �������. 

(A) adjusted (B) repeated
 \� ö\´¯¨£kQÓx  v¸®£Ä® ö\´¯¨£kQÓx  

(C) not adjusted (D) not repeated 
 \� ö\´¯¨£kÁvÀø»  v¸®£Ä® ö\´¯¨£kÁvÀø» 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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82. Match the following  : 
¤ßÁ¸ÁÚÁØøÓ ö£õ¸zxP : 
(a) Focussing the eye piece   1. Turning the eyepiece  
      in or out until the cross 
      hairs are seen sharp 
 I ¥ì ÁÈ÷¯ £õº¨£x    Qμõì ÷íº ªP |ßÓõP  
      öu�²® --Áøμ I ¥ø\  
      EÒ÷Í AÀ»x öÁÎ÷¯  
      v¸P ÷Ásk® 
(b) Focussing the object piece 2. Focussed to bring the  
      image in the plane of  
      the cross hairs 
 B¨áUm ¥ì ÁÈ÷¯ £õº¨£x  Qμõì ÷í�ß uÍzvÀ  
      E¸Á® öu�²® Áøμ  
      PÁÚ® ö\¾zu¨£mhx 
(c) The line of sight should be 3. Collimation test  
 perpendicular to the horizontal    
 axis 
 Qøh©mh Aa_US ö\[SzuõP  ÷PõÀ¼÷©åß ÷\õuøÚ  
 £õºøÁ ÷Põk C¸UP ÷Ásk® 
(d) To make the horizontal axis 4. Spire test  
 perpendicular to the vertical axis 
 ö\[Szx Aa_US ö\[SzuõP  
 Qøh©mh Aaø\ öPõsk Áμ ÷Ásk® ìø£¯º ÷\õuøÚ  

 (a) (b) (c) (d) 
(A) 2 1 4 3 
(B) 3 2 1 4     
(C) 4 2 3 1    
(D) 1 2 3 4     
(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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83. ������� test to make the line of sight perpendicular to the
horizontal axis.  
Qøh©mh Aa_US ö\[SzuõP £õºøÁ ÷Põmøh E¸ÁõUP ������
÷\õuøÚ ö\´¯¨£kQÓx. 

(A) Collimation  (B) Spire 

 Põ¼÷©åß  ìø£¯º 

(C) Plate level  (D) Vertical arc  
 ¤÷Ím ö»ÁÀ  öÁºiUPÀ BºU 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

84. Following any one of temporary adjustment is not required for a new
set up a theodolite before starting the work 
£oø¯²® xÁUS® �ß v÷¯õøhø»miß ¦v¯ Aø©ÂØPõP RÌUPsh 
JßÖ uØPõ¼P Amáìö©ßm ÷uøÁ£hõx 

(A) Centering (B) Focussing 

 ø©¯¨£kzxuÀ  SÂø©¯® 

(C) Levelling up (D) Fitting up 
 ©mh¨£kzxuÀ  ö£õ¸zxuÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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85. An imaginary straight line tangential to the longitudinal curve of
altitude level as its centre is  
}Í©õÚ ÁøÍÂß ø©¯ Ea]°À öuõk÷PõhõP J¸ PØ£øÚ¯õÚ 
÷|ºU÷Põk Áøμ¯¨£kQÓx. Ax Gx? 

(A) Axis of plate level tube  

 umk {ø» SÇõ°ß Aa_   

(B) Axis of the attitude level tube  
 E¯μ {ø» SÇõ°ß Aa_ 

(C) Axis of telescope   
 öuõø» ÷|õUQ°ß Aa_   

(D) Line of collimation  
 £õºøÁ ÷Põk  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

86. Theodolite is not used for  
v÷¯õ÷hõø»møh RÌUPsh ö\¯À�øÓUS £¯ß£kzxÁvÀø» 

(A) Prolonging line (B) Establishing line 

 ÷Põmøh }miUP   ÷Põmøh {º©õÛUP  

(C) Curving line (D) Angle measurements  
 ÁøÍÄU ÷PõkPøÍ Aø©UP  ÷Põn[PøÍ AÍÂh  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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87. ������� is an imaginary line joining the centre of the eye
piece and the optical centre of the object glass. 
öuõø»÷|õUQ°À I ¥ì ©ØÖ® B¨áUm Psnõiø¯²® JÎ°¯À 
ø©¯zxhß CønUS® J¸ PØ£øÚU ÷Põk ������ BS®. 

(A) Line of collimation (B) Axis of telescope 

 £õºøÁ ÷Põk  öh»ì÷Põ¨¤ß Aa_ 

(C) Horizontal axis (D) Vertical axis 
 Qøh©mh Aa_  ö\[Szx Aa_  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

88. The size of a theodolite is defined by its �������.  
J¸ v÷¯õ÷hõø»miß AÍÄ ������ �»® Áøμ¯ÖUP¨£kQÓx. 

(A) Diameter of the graduate circle of the lower plate 

 AÍÄPÒ SÔUP¨£mh RÌumiß Âmh® 

(B) Diameter of the graduate circle of the upper plate  
 AÍÄPÒ SÔUP¨£mh ÷©Àumiß Âmh®  

(C) Size of the inner spindle  
 EÒ _ÇÀ AÍÄ 

(D) Size of the outer spindle   
 öÁÎa_ÇÀ AÍÄ   

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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89. Rule for reduced bearing (RB) if whole circle bearing (WCB) is
between 270° and 360°
�Ê Ámh ÷£�[ (WCB) 270° ©ØÖ® 360°US® Cøh°À C¸¢uõÀ 

SøÓUP¨£mh ÷£�[PõÚ (RB) Âv? 

(A) RB = WCB 

 SøÓUP¨£mh ÷£�[ = �ÊÁmh ÷£�[ 

(B) RB = 180° � WCB  
 SøÓUP¨£mh ÷£�[  = 180° � �ÊÁmh ÷£�[ 

(C) RB = WCB � 180° 
 SøÓUP¨£mh ÷£�[   = �ÊÁmh ÷£�[ � 180° 

(D) RB = 360° � WCB  
 SøÓUP¨£mh ÷£�[ = 360° � �ÊÁmh ÷£�[  

(E) Answer not known 
   Âøh öu�¯ÂÀø» 
 

90. Use (+) plus sign if the given Fore Bearing (FB) is less than 180° and 
minus (�) sign if it exceeds   
öPõkUP¨£mh �ßÚõÀ ÷£�[ (Fore Bearing) 180°&ø¯ Âh SøÓÁõP 

C¸¢uõÀ (+) SÔø¯¨ (sign) £¯ß£kzu ÷Ásk®, ©ØÖ® ������

AvP©õP C¸¢uõÀ (�) SÔø¯¨ (sign) £kzu÷Ásk®. 

(A) 360° (B) 270° 

(C) 180° (D) 90° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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91. Convert Whole Circle Bearing (WCB) 03285 ′ to Reduced Bearing 
(RB) 

�ÊÁmh ÷£�[ (WCB) 03285 ′ ø¯ SøÓUP¨£mh ÷£�[PõP (RB) 
©õØÓÄ® 

(A) RB = N 74°30′W (B) RB = N 74°30′E 

(C) RB = S 74°30′E (D) RB = S 74°30′W 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

92. Find Back Bearing (BB) of the observed Fore Bearing (FB) of line
AB 63°30′ 
AB ÷PõmiÀ £õºUP¨£mh �ßÚõÀ ÷£�[Qß (FB) 63°30′US ¤ßÚõÀ 

÷£�[øP (BB)  PshÔ¯Ä® 

(A) 63°30′ (B) 153°30′ 

(C) 243°30′ (D) 333°30′ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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93. ������� is that type of survey in which a number of 
connected survey lines from the frame work and the directions and
lengths of the survey line are measured with the help of an angle
measuring instrument and a tape respectively. 
������ Gß£x \º÷Á°À J¸ ÁøP. CvÀ Pmhø©¨¦ BÚx £» 
\º÷Á ÷PõkPÍõÀ E¸ÁõUP¨£kQÓx. CU÷PõkPÎß vø\ ©ØÖ® }Í[PÒ 
÷Põn AÍÄ P¸Â°ß �»�® ©ØÖ® ÷h¨ �»�® �øÓ÷¯ 
AÍUP¨£kQÓx. 

(A) Triangulation (B) Reciprocal  
 iøμ B[S÷»\ß  öμ]¦÷μõUPÀ

(C) Traversing (D) Trignometrical  
 iμõÁºê[  �U÷PõnÂ¯À  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

94. Find Back Bearing (BB) of the observed Fore Bearing (FB) of line
AB 203°30′ 
AB ÷PõmiÀ £õºUP¨£mh �ßÚõÀ ÷£�[Qß (FB) 203°30′US ¤ßÚõÀ 

÷£�[øP (BB) PshÔ¯Ä® 

(A) 293°30′ (B) 203°30′ 

(C) 113°30′ (D) 23°30′ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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95. The direction indicated by a freely suspended and properly balanced
magnetic needle unaffected by local attractive forces is called the  
ußÛaø\¯õP Âh¨£mh ÷»õUPÀ Dº¨¤ÚõÀ £õvUP¨£hõu Põ¢u F] 
Põmk® vø\¯õÚx GÆÁõÖ AøÇUP¨£kQÓx?  

(A) True meridian (B) True bearing  
 \�¯õÚ ö©�i¯ß  \�¯õÚ ÷Põn® 

(C) Magnetic bearings (D) Magnetic meridian  
 Põ¢u ÷Põn®  Põ¢u ö©�i¯ß  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

96. In Survery, Fore bearing of a line taken in  
\º÷Á°À, J¸ ÷PõmiÀ �ßÚõÀ ÷£�[ ������ GkUP¨£kQÓx. 

(A) Forward direction (B) Backward direction 

 �ß÷ÚõUS vø\°À  ¤ß÷ÚõUS vø\°À 

(C) Parallel direction (D) Perpendicular direction 
 Cøn¯õÚ vø\°À  ö\[Szx vø\°À 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

97. The graduations can be made clearly visible by adjusting the prism
to the eye sight by the ������� in prismatic compass. 
¤�ì©õiU vø\Põmi°À ������ £¯ß£kzv Ps £õºøÁUPõÚ 
¤�\ø© \� ö\´Áuß �»® AÍÄPøÍz öuÎÁõP¨ £õºUP �i²®. 

(A) Focussing screw  (B) Mirror 

 L¨÷£õUPê[ v¸S  Psnõi 

(C) Pivot  (D) Sun glass  
 ¤÷Áõm  `�¯ Psnõi  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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98. In the system of graduation in prismatic compass ������� is 
marked at east. 
¤�ì÷©miU Põ®£êß AÍÄU SÔ±k QÇUS¨ £UPzvÀ ������
GßÖ SÔUP¨£mk C¸US®. 

(A) 0° (B) 90° 

(C) 180° (D) 270° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

99. The horizontal angle which a line makes with this meridian is  
ö©�i¯Ýhß J¸ ÷Põk E¸ÁõUS® Qøh©mh ÷Põn® GÆÁõÖ 
AøÇUP¨£kQÓx? 

(A) Magnetic bearing  (B) Magnetic meridian  
 Põ¢u ÷Põn®  Põ¢u ö©�i¯ß 

(C) True bearing  (D) True meridian  
 \�¯õÚ ÷Põn®  \�¯õÚ ö©�i¯ß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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100. It cannot be used without a tripod  
�UPõ¼ CÀ»õ©À Cøu £¯ß£kzu �i¯õx  

(A) Trough compass  

 iμ¨ vø\Põmi   

(B) Surveyor�s compass 
 \º÷Á¯º vø\Põmi 

(C) Prismatic compass   
 ¤�ì©õiU vø\Põmi    

(D) Compass and level 
 vø\UPõmi ©ØÖ® ©mh® £õºUS® P¸Â 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

101. There are ���������� fundamental types of units used in Auto
CAD. 
Bm÷hõ ÷PiÀ £¯ß£kzu¨£k® ����� ÁøP¯õÚ Ai¨£øh A»SPÒ 
EÒÍÚ 

(A) 5 (B) 4 

(C) 6 (D) 7 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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102. In Auto CAD, the objects drawn with red color on�screen may be 
printed with 5mm line weight it is called  
Bm÷hõ ÷PiÀ, ]Á¨¦ {ÓzuõÀ vøμ°À Áøμ¯¨£k® ö£õ¸mPÒ 5 ª« 
÷Põmiß Gøh öPõsk ¤�ßm ö\´¯»õ®, CuøÚ _________ GßÖ 
AøÇUP¨£kQÓx 

(A) Pen assignment (B) Plotting origin 

 ö£ß Aø\ßö©ßm  ¤Íõmi[ B�âß 

(C) Assignment (D) Plot settings 
 Aø\ßö©ßm  ¤Íõm ö\mi[ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

103. A degree to which drawings are proportionally reduced or enlarged
is termed as 
Áøμ£h[PÒ ÂQuõa\õμzvÀ SøÓUP¨£mh AÀ»x ö£�uõUP¨£k® AÍÄ 
����� GÚ AøÇUP¨£kQÓx 

(A) Plotting scale factor (B) Scale 

 ¨Íõi[ ì÷PÀ L÷£Uhº  ì÷PÀ 

(C) Plotting scale (D) Drawing layout 
 ¨Íõmi[ ì÷PÀ  iμõ°[ ÷»AÄm 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

104. A template drawing that has a last location of the cursor is 
Pº\�ß Pøh] ChzøuU öPõsh J¸ öh®¨÷Ím ÁøμuÀ ����� BS®

(A) Object snap (B) aperture 

 B¨öáUm ì|õ¨  Aö£a`º 

(C) Origin point (D) Prototype drawing 
 B�öáß £õ°ßm  ¦÷μõm÷hõøh¨ iμõ°[ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 



   490-SURVEYOR AND 
  DRAUGHTSMAN(CIVIL) 
  [Turn over 

53

105. ���������� is a connected sequence of line segments created as a
single object 
J¸ JØøÓ ö£õ¸øÍ E¸ÁõUP¨£k® ÷Põmk¨ £SvPÎß CønUP¨£mh 
öuõhº Á�ø\ ����� BS® 

(A) Extend (B) Stretch 

 GUìhßm  ìöhºa 

(C) Lengthen (D) P line 
 ö»ßzöuß  ¤ ø»ß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

106. Advantage of using the ���������� command is that it allows copy 
objects in defined angle and exact number of copies 
����� PmhøÍø¯¨ £¯ß£kzxÁuß |ßø© GßÚöÁßÓõÀ, 
ö£õ¸ÒPøÍ Áøμ¯ÖUP¨£mh ÷Põnzv¾®, |PÀPÎß GsoUøP°¾® 
|Pö»kUP AÝ©vUQÓx 

(A) move (B) rotate 

 �Æ  ÷μõ÷hm 

(C) array (D) mirror 
 Aº÷μ  ªμº 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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107. Auto CAD allows you to have across to a large number of commands,
a general rule is that use 20% of the command ���������� % of 
time. 
GsnØÓ PmhøÍPøÍ E£÷¯õQUP Bm÷hõ CAD � À AÝ©v 

AÎUQÓx, Auß ö£õxÁõÚ Âv ����� % øh® PmhøÍPÒ 20% 
E£÷¯õQUP¨£kQÓx 

(A) 50% (B) 75% 

(C) 80% (D) 100% 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

108. Shortcut key for Draw a circle in Auto CAD 
Auto CAD AÀ»x Bm÷hõ ÷PiÀ Ámh® Áøμ¯ SÖUSÁÈ R 

(A) Co↵  (B) Ch↵  

(C) C↵  (D) Cu↵  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

109. In Auto CAD ���������� is like a transparency. 
Bm÷hõ ÷PiÀ ����� öÁÎ¨£øh ußø© ÷£õßÓx. 

(A) Dimension (B) Text 

 øh©ßåß  öhUìm 

(C) Layer (D) Limit 
 ÷»¯º  ¼ªm 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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110. ���������� command is used to make a line parallel to an existing 
line in Auto CAD 
Bm÷hõ ÷PiÀ Áøμ¢u ÷PõmiØS Cøn¯õP J¸ ÷Põmøh E¸ÁõUP  
����� PmhøÍø¯¨ £¯ß£kzu»õ® 

(A) Fillet (B) Offset 

 ¤À»m  BL¨ö\m 

(C) Break (D) Chamfer 
 ¤÷μU  ÷\®ö£º 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

111. ���������� command is used to measure inclined dimension
between two points. 
����� PmhøÍ Cμsk ¦ÒÎPÐUS Cøh÷¯ EÒÍh[Q¯ \õ´øÁ 
AÍÂh £¯ß£kQÓx 

(A) Linear (B) Jogged 

 ½Û¯º  áõQm 

(C) Angular (D) Aligned 
 B[S»º  Aø»ßk 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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112. By using ���������� system, to draw a line a certain distance at a 
particular angle 
����� Aø©¨ø£ E£÷¯õQ¨£uß �»®, J¸ SÔ¨¤mh ÷PõnzvÀ 
J¸ SÔ¨¤mh yμzvÀ J¸ ÷Põmøh Áøμ¯»õ® 

(A) Polar co�ordinates (B) Relative co�ordinates 

 ÷£õ»õº ÷Põ Bºi÷Úmì  öuõhº¦ÒÍ ÷Põ Bºi÷Úmì 

(C) Absolute co�ordinates (D) co�ordinates 
 §μn©õÚ ÷Põ Bºi÷Úmì  ÷Põ Bºi÷Úmì 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

113. Match the following manage drawings in Auto CAD : 
¤ßÁ¸ÁÚÁØøÓ ö£õ¸zxP Bm÷hõ÷PmiÀ ÷©÷Úâ[ iμõ°[ : 
(a) Ctrl+n 1. Save drawing 
 Ctrl+n  Áøμ£hzøu ÷\P�zuÀ 
(b) Ctrl+S 2. Select all object 
 Ctrl+S  �Êø©¯õP ÷uºÄö\´uÀ 
(c) Ctrl+Q 3. New drawing 
 Ctrl+Q  ¦v¯ Áøμ£h® 
(d) Ctrl+a 4. Exit 
 Ctrl+a  öÁÎ÷¯ÖuÀ 

 (a) (b) (c) (d) 
(A) 3 1 4 2 
(B) 1 3 2 4  
(C) 2 4 3 1 
(D) 4 1 2 3 
(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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114. The ���������� command in Auto CAD is used to make multiple 
copies of objects. 
ö£õ¸ÒPøÍ £» |PÀPÍõP Gk¨£uØS Bm÷hõ CAD � °À �����
PmhøÍ E£÷¯õQUP¨£kQÓx 

(A) Stretch (B) Mirror 

 ìmöμa  ªμº 

(C) Array (D) Extend 
 Aº÷μ  GUìöhßm 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

115. CADD allows to make fine corners of any two lines or arcs, this
technique often called 
G¢u Cμsk ÷PõkPÒ AÀ»x ÁøÍÄPÎß �ø»PøÍ E¸ÁõUP 
AÝ©vUQÓx, C¢u ~m£® ö£¸®£õ¾® ����� GßÖ 
AøÇUP¨£kQÓx. 

(A) Trimming (B) Filleting 

 i�®ª[  L¤À»mi[ 

(C) Off setting (D) Chamfer 
 B¨ö\mi[  ÷\®ö£�[ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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116. Ctrl+1 key strokes function defined is  
Ctrl+1 Âø\ ìm÷μõU ö\¯À£õmiøÚ Áøμ¯Ö¨£x  

(A) Object properties window on/off 
 ö£õ¸Îß Sn[PÒ Âß÷hõ Bß/B¨ 

(B) Coordinate display on/off  
 ÷PõBºi÷Úm Põm]£kzuÀ Bß/B¨ 

(C) Polar tracking on/off 
 ÷£õ»õº iμõUQ[ Bß/B¨ 

(D) Object snap tracking on/off 
 B¨öáUm ]|õ¨ iμõUQ[ Bß/B¨ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

117. Choose the correct answer. 
\�¯õÚ £vø» ÷uºÄ ö\´¯Ä®. 
Computer Aided Design Package has three components, they are
PoÛ EuÂ ÁiÁø©¨¦ öuõS¨¦ �ßÖ TÖPÍõS® AøÁ 

(A) Draw, Dimensioning, Text 
 ÁøμuÀ, £�©õn®, Eøμ 

(B) Draft, babble diagram, single line sketch  
 ÁøμÄ, £õ¤Ò Áøμ£h®, JØøÓ Á� Áøμ£h® 

(C) Design, Analysis and visualization 
 ÁiÁø©¨¦, £S¨£õ´Ä ©ØÖ® Põm]£kzxuÀ 

(D) Design, Analysis and text 
 ÁiÁø©¨¦, £S¨£õ´Ä ©ØÖ® Eøμ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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118. Erase, copy, mirror, offset, etc, the above properties are ����������
commands 
AÈzuÀ, |PÀ, Psnõi, BL¨ ö\m ÷£õßÓøÁPÒ ÷©÷» EÒÍ £s¦PÒ 
����� PmhøÍPÍõS® 

(A) Modifying (B) Tools 

 ©õiLø£  lÀ 

(C) Menu bar (D) Dimensioning 
 ö©Ý£õº  £�©õn[PÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

119. The ���������� is the computer screen and is used to display
information 
����� Gß£x PoÛ vøμ BS® ©ØÖ® Cx uPÁÀPøÍU 
PõmkÁuØS¨ £¯ß£kQßÓx 

(A) Monitor (B) Key board 

 ©õÛmhº  R ÷£õºk 

(C) Printer (D) Mouse 
 ¤�shº  ö©Íì 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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120. Computer are used to perform ���������� operation at a very high 
speed 
ªP AvP ÷ÁPzvÀ ����� ö\¯À£õmøh ö\´¯ PoÛ 
£¯ß£kzu¨£kQÓx 

(A) Human and electrical (B) Arithmetic and logic 

 ©Ûu ©ØÖ® ªß\õμ  Pou® ©ØÖ® »õâU 

(C) Hardware and software (D) Electrical and electronics 
 Áßö£õ¸Ò ©ØÖ® ö©ßö£õ¸Ò  ªß ©ØÖ® ªßÚqÂ¯À 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

121. The readings are observed and recorded by the Staff Man from  
G¢u ìhõ¨ ÷©ß �»® AÍÄPÒ GkUP¨£mk ©ØÖ® £v¯¨£kQÓx. 

(A) Solid staff (B) Folding staff 

 vh©õÚ ìhõ¨  ©iUS® ìhõ¨ 

(C) Telescopic staff (D) Target staff 
 öh»ì÷Põ¨¤U ìhõ¨  hõºöPm ìhõ¨ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

122. A solid staff is usually ________ m long in one piece length.  
vh©õÚ ìhõ¨&ß ö£õxÁõP J¸ xsiß }Í® ________ «mhº öPõshx. 

(A) 1.00 m (B) 1.50 m 

 1.00 «mhº  1.50 «mhº 

(C) 2.00 m (D) 3.00 m 
 2.00 «mhº  3.00 «mhº 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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123. Trigonometric Levelling different points are obtained by ________,
________.  
�U÷PõnÂ¯À ö»Á¼[&ß öÁÆ÷ÁÖ £õ°smiß �»® ö£Ó¨£kQÓx. 

(A) Linear and Angular Measurement  
}Í® ©ØÖ® ÷Põn AÍøÁPÒ 

(B) Vertical Angles, Horizontal Distance 
 ö\[Szx ÷Põn®, Qøh©mh yμ® 

(C) Degree, Minutes  
 iQ� ©ØÖ® {ªh[PÒ  

(D) Triangle, Equilateral  
 �U÷Põn® ©ØÖ® \©£UP �U÷Põn® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

124. Name of Self Aligning Level is called 
_¯ ^μø©¨¦ ö»ÁÀ GÚ SÔ¨¤kÁx RÌUPsh G¢u ö»ÁÀ P¸Â? 

(A) Auto Level (B) Dumpy Level 

 uõÛ¯[Q ö»ÁÀ  hL®¤ ö»ÁÀ 

(C) Wye Level (D) Self Level 
 K´ ö»ÁÀ  ö\À¨ ö»ÁÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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125. In levelling Survey, ________ scale is used for plotting the
longitudinal section. 
ö»Á¼[ \º÷Á°À, }Í©õÚ £Svø¯z ÁøμÁuØS ________ ì÷PÀ 
£¯ß£kzu¨£kQÓx. 

(A) 1/100 (B) 1/1000 

(C) 1/1500 (D) 1/10,000 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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126. Select the correct statement : 
\�¯õÚ ÁõUQ¯[PøÍ ÷uº¢÷uk : 

(1) Height of Collimation (HC) is calculated for each setting of 
Instrument  
P¸Â°ß JÆöÁõ¸ Aø©¨¤ØS® öPõ¼÷©åß E¯μ® 
PnUQh¨£kQÓx. 

 HC = RL of BM + Back Sight  
 Põ¼÷©åß E¯μ® = ö£ga©õºUß ö»ÁÀ + �ß£õºøÁ  

(2) Rise and Fall method is used where not accuracy is required  
 GÊa] ©ØÖ® ÃÌa] PnURk �øÓ°À AvP xÀ¼¯® 

÷uøÁ¨£hõx 

(3) Rise and Fall method is a complete check for all intermediate 
 GÊa] ©ØÖ® ÃÌa] �øÓ Gß£x AøÚzx Cøh{ø»PÐUS©õÚ 

J¸ �Êø©¯õÚ ÷\õuøÚ BS®. 

(A) (1) and (3) is true (2) is false  

 (1) ©ØÖ® (3) \�, (2) uÁÖ  

(B) (1) and (2) is true (3) is false 

 (1) ©ØÖ® (2) \�, (3) uÁÖ 

(C) (2) and (3) is true (1) is false  
 (2) ©ØÖ® (3) \�, (1) uÁÖ  

(D) (1), (2) and (3) all are true  
 (1), (2) ©ØÖ® (3) AøÚzx® \� 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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127. It is not possible to setup the Level midway between two points as in
the case of Levelling across a river (or) Lake ________ Levelling is
used. 
J¸ BÖ (A) H�°ß SÖU÷P ö»Á¼[ £sq® ÷£õx Cμsk 

¦ÒÎPÐUS |kÂÀ ö»Áø» ö\m A¨ £sn �i¯õu ÷£õx ________ 
ö»Á¼[ £¯ß£kzu¨£kQÓx. 

(A) Reciprocal Levelling (B) Fly Levelling 

 öμê¨÷μõUPÀ ö»Á¼[  ¨øÍ ö»Á¼[ 

(C) Check Levelling (D) Differential Levelling 
 \�£õºUS® ö»Á¼[  ©õÖ£mh ö»Á¼[

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

128. Which bench mark is established for short duration such as at the 
end of a day�s work? 
J¸ |õÎß �iÂÀ |øhö£ØÓ £o ÷£õßÓ SÖQ¯ Põ»zvØPõP 
E¸ÁõUP¨£mh AÍÄUPõÚ £oPÒ ________ GßÓøÇUP¨£kQÓx. 

(A) GTS bench mark (B) Permanent bench mark 

 â.i.Gì ö£ga ©õºU  {ø»¯õÚ ö£ga ©õºU 

(C) Temporary bench mark (D) Arbitrary bench mark 
 uØPõ¼P ö£ga ©õºU  ußÛaø\¯õÚ ö£ga ©õºU 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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129. The difference of level between consecutive points is found by
comparing staff readings Rise indicates (+) and Fall indicates (�). In 
this statement which type of method of calculation    
öuõhºa]¯õÚ ¦ÒÎPÐUS Cøh÷¯ EÒÍ Âzv¯õ\® ìhõ¨ �i[PÎß 

AvP�¨¦ (+) ©ØÖ® uõÌÄ (�) ÷£õßÓÁØøÓ J¨¤kÁx ________ �øÓ°À 
PnUQh¨£kQÓx. 

(A) Height of Collimation method  

 Põ¼÷©åß E¯μ �øÓ  

(B) Rise and Fall method 
 HØÓ ©ØÖ® CÓUP �øÓ 

(C) Rise and Collimation method   
 HØÓ ©ØÖ® Põ¼÷©åß �øÓ  

(D) Fall and Collimation method 
 CÓUP® ©ØÖ® Põ¼÷©åß �øÓ

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

130. ________ is also perpendicular to the plumb line. 
________ ¤Í®¨ ÷PõmiØS ö\[SzuõP EÒÍx. 

(A) Level line (B) Horizontal line 

 {ø»U ÷Põk  Qøh©mh ÷Põk 

(C) Vertical line (D) Datum line 
 ö\[SzxU ÷Põk  ÷hmh® ÷Põk

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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131. What are the main peculiarity of Tilting Level? 
|ÃÚ (v¸®¦®) ö»ÁÀ P¸Â°ß uÛzußø©¯õÚx 

(A) The Line of colimation is perfect   

 ø»ß B¨ Põ¼÷©åß BÚx \�¯õÚ £i C¸US®  

(B) The Axis of Telescope is Line joining object glass  
 öh»ì÷Põ¨¤ß Aa_ Gß£x ÷|õUS® Psnõiø¯ ¤μv£¼US® 

(C) The bubble line is an imaginary line  
 SªÌ ÷Põk BÚx J¸ PØ£øÚ¯õÚ ÷Põk BS®  

(D) The vertical axis need not perpendicular to it  
Cuß ö\[Szx Aa_ �ÊÁx® ö\[Szx BP C¸UP ÷uøÁ°Àø»

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

132. ________ purpose of using Self Reading Levelling Staff.   
ö\À¨ �j[ (_¯©õP AÍÄ £õºzuÀ) ìhõ¨ GuØS £¯ÚÎUQÓx? 

(A) Precise Levelling  

 xÀ¼¯©õP ö»ÁÀ ö\´¯  

(B) Readings are observed directly by an observer through the 
Telescope 

 öh»ì÷Põ¨ ÁÈ¯õP £õºUS® ÷£õx J¸ÁμõÀ �i[øP ÷|μi¯õP 
£sn HxÁõÚx 

(C) Known of midway between the point  
 Cøh¨¦ÒÎ°ß yμ[PøÍ Põn   

(D) Reading by Inverted only 
 uø» RÇõP £i¨£uØS  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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133. Now a days which levelling staff is mostly used for levelling survey?
CUPõ»zvÀ ö»Á¼[ \º÷Á ö\´ÁuØS RÌUPsh G¢u ìhõ¨ AvP® 
£¯ß£õmiÀ EÒÍx? 

(A) Folding Staff (B) Telescopic Staff 

 ©iUS® ÁøP ìhõ¨  öh»ì÷Põ¤U ìhõ¨ 

(C) Solid Staff (D) Invar Staff 
 öPmi¯õÚ ìhõ¨  CßÁõº ìhõ¨ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

134. The thickness of each division is ________ mm in Levelling Staff. 
ö»Á¼[ ìhõL¨&À JÆöÁõ¸ ¤�Âß ui©ß ________ «« öPõshuõP 
C¸US®. 

(A) 10 mm (B) 8 mm 

 10 ª.«  8 ª.« 

(C) 6 mm (D) 5 mm 
 6 ª.«  5 ª.« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

135. A bubble tube in ________ place is bubble in Horizontal Line. 
SªÌ i³¨ BÚx ________ £Sv°À C¸¢uõÀ uõß Qøh©mh©õP P¸Â 
EÒÍx GÚ P¸vh»õ®. 

(A) Left (B) Middle 

 Chx ¦Ó®  ø©¯¨ ¦ÒÎ°À 

(C) Right (D) Any Place 
 Á»x ¦ÓzvÀ  G¢u £Sv°¾® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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136. To determine the volume of earth work because of Road, Railway,
Irrigation project which survey is carried out 
§ª°À ÷©ØöPõÒÍ¨£k® ©s ÷Áø»PÎß AÍÄPøÍ wº©õÛUP (\õø», 

C¸¨¦ £õøu, }º¨£õ\Ú®) ÷£õßÓ vmh £oPÐUS ________ \º÷Á 
÷©ØöPõÒÍ¨£kQÓx. 

(A) Drone (B) Chain 

 m÷μõß  ö\°ß 

(C) Contouring (D) Levelling  
 Põßlº  ö»Á¼[ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

137. Procedure of Temporary Adjustments used in leveling survey is 
ö»Á¼[ \º÷Á°À £¯ß£kzu¨£k® uØPõ¼P Amáìmö©smPÒ �øÓ  

(A) Levelling, Eye Vane, Object Vane  

 \©ß£kzxuÀ, Ps ÁÈ, ö£õ¸Îß ÁÈ £õºzuÀ  

(B) Adjust Foot Screw, Centering, Orientation  
 v¸S ìS¹ \©ß£kzxuÀ, ø©¯£kzxuÀ, ÷|õUS {ø» 

(C) Fixing the instrument on stand, Levelling, Focussing   
 uõ[Q°À E£Pμnzøu ö£õ¸zxuÀ, ø©¯¨£kzxuÀ, ÷£õPê[ 

ö\´uÀ  

(D) Handling, Fixing, Adjustment  
 øP¯õÐuÀ, {ÖÄuÀ, \� ö\´uÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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138. Select the correct statement : 
¤ßÁ¸ÁÚÁØÔÀ \�¯õÚ ÁõUQ¯zøu ÷uº¢÷uk : 

(i) Hand signals during observation must for located in busy, 
noisy areas, man to give instructions vocal sounds places. 

 £μ£μ¨£õÚ, Cøμa\À AvP® Eøh¯ £SvPÎÀ ©Ö �øÚ°À EÒÍ 
©ÛuÝUS AÔÄøμPÒ SμÀ J¼ �»® ö\õÀ» �i¯õu, Cx ÷£õßÓ 
{ø»PÐUS øP \ªUøb PÁÛUP£h ÷Ásk®.

(ii) Hand signals observation is in direct ranging places, hide 
point places, Lake, Pond surface places used. 

 ©øÓ�P ÷μg][, öu�¯õu ¦ÒÎPÒ C¸US® Ch®, ©ØÖ® SÍ®, 
H� £μ¨¦PÎÀ \º÷Á ö\´¯ øP \ªUøb £¯ÝÒÍuõP C¸US®. 

(iii) Hand signal are found to be useful for levelling work for man 
holding the staff at the other end through the vocal sounds. 

 SμÀ J¼PÒ �»® ©Ö �øÚ°À ö»Á¼[ ö\´²® £oUPõP ìhõ¨ 
øÁzv¸¨£Á¸US ©ÛuÝUS øP \ªUøb £¯ÝÒÍuõP C¸US®. 

(A) (ii) and (iii) are true (B) (i) and (iii) are true 

 (ii) ©ØÖ® (iii) \�  (i) ©ØÖ® (iii) \� 

(C) (i), (ii) and (iii) true (D) (i) and (iii) false (ii) is true 
 (i), (ii) ©ØÖ® (iii) \�  (i), (iii) uÁÖ ©ØÖ® (ii) \� 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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139. Principle of Levelling is  
ö»Á¼[Qß uzxÁ® Gß£x 

(A) A Angle of measurement   

 ÷Põn[PÎß AÍÂøÚ Põs£x   

(B) A Horizontal Line of sight  
 £õºøÁ°ß J¸ Qøh©mh ÷Põmøh ö£ÖÁx 

(C) A Linear and Angular measurement   
 Qøh©mh ©ØÖ® ÷Põn[PÎß AÍøÁ ö£ÖÁx  

(D) A upward and Downward Line  
÷©÷» ©ØÖ® R÷Ç EÒÍ ÷PõkPøÍ Põs£x

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

140. Choose the wrong statement of the Holding the staff  
ìhõ¨ø£ ¤izuÀ � CvÀ uÁÓõÚ TØøÓ PõsP 

(A) Hold the staff in a vertical position  
 ìhõ¨ø£ ö\[SzuõP ¤izxU öPõsk C¸UP ÷Ásk®  

(B) The staff man stands behind the staff 
 ìhõ¨ ÷©ß ìhõ¨¦US ¤ßÚõÀ C¸UP ÷Ásk® 

(C) Holds it between the palm of his hands at the height of his face
 ìhõ¨ø£ Cμsk EÒÍ[øPPÐUS Cøh°À �PzvØS ÷|μõP 

C¸UP ÷Ásk®  

(D) If it is vertical, the reading will be too great  
 ìhõ¨ ö\[SzuõP ¤izuõÀ AÍÄPÒ AvP©õP Põmk® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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141. The maximum height of the building shall not exceed __________
times width of the street.  
Pmihzvß AvP£m\ E¯μ®, öu¸Âß AP»zvß ������ ©h[SUS 
÷©À C¸UPUThõx.  

(A) 0.5 (B) 1.0 

(C) 1.5 (D) 2.0 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

142. If the floor area at ground level of a building is 60 sq.m. Find the
built up area  
J¸ Pmihzvß uøμ ©mhzvß £μ¨£ÍÄ 60 \.« GßÓõÀ Pmk©õÚ 
£μ¨£ÍøÁ Psk¤iUPÄ®.  

(A) 42 sq.m (B) 48 sq.m 

 42 \.«  48 \.« 

(C) 72 sq.m (D) 78 sq.m 
 72 \.«  78 \.« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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143. For framed multi storied building, the area occupied by the wall is
__________ of plinth area.  
Pmhø©UP¨£mh £» ©õi PmihzvØS, _Áº BUQμªzxÒÍ £Sv¯õÚx, 
¤Îßz £μ¨£ÍÂÀ ������ BS®.  

(A) 5% to 10% (B) 10% to 15% 

 5% �uÀ 10%  10% �uÀ 15% 

(C) 15% to 20% (D) 20% to 25% 
 15% �uÀ 20%  20% �uÀ 25% 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

144. Match the following  : 
¤ßÁ¸ÁÚÁØøÓ ö£õ¸zxP : 
 Area of Plot     Permissible covered area 
 ¤Íõmiß £μ¨£ÍÄ               AÝ©vUP¨£mh �h¨£mh £Sv

(a) More than 1000 sq.m   1. 60% of site area 
 1000 \.«US ÷©À     ©øÚ£μ¨£ÍÂÀ 60% 
(b) 501 sq.m to 1000 sq.m  2. 50% of site area 
 501 \.« �uÀ 1000 \.«   ©øÚ£μ¨£ÍÂÀ 50% 
(c) 201 sq.m to 500 sq.m  3. 40% of site area  
 201 \.« �uÀ 500 \.«   ©øÚ£μ¨£ÍÂÀ 40%  

(d) Upto 200 sq.m   4. 33% of site area  
 201 \.« Áøμ    ©øÚ£μ¨£ÍÂÀ 33% 

 (a) (b) (c) (d) 
(A) 4 3 2 1    
(B) 3 2 1 4     
(C) 1 2 3 4    
(D) 2 3 4 1     
(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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145. For any habitable room, window area should be a minimum
__________ of floor area.  
G¢u Á]UPUTi¯ AøÓUS®, áßÚ¼ß £μ¨£ÍÄ uøμ¨£μ¨£ÍÂÀ 
SøÓ¢u £m\® ������ C¸UP ÷Ásk®.  

(A) 5% (B) 10% 

(C) 15% (D) 20% 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

146. Desirable breadth to length ratio of a room is  
J¸ AøÓ°ß Â¸®£zuUP AP»zvØS® }ÍzvØS® EÒÍ ÂQu® 
������ BS®.  

(A) 1: 0.50 to 1 : 0.90 (B) 1 : 1.20 to 1 : 1.50 

(C) 1 : 1.50 to 1 : 2.00 (D) 1 : 2.00 to 1 : 2.50 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

147. Plan of a building is the __________ and arranging of its component
parts in a systematic manner.  
J¸ Pmihzøu vmhªkuÀ Gß£x Auß TÖ £õP[PøÍ J¸ JÊ[PõÚ 
�øÓ°À Á�ø\¨£kzv ������ ö\´ÁuõS®.  

(A) Seeking (B) Grouping  
 ÷ukuÀ   S¹¨¤[ 

(C) Dispersing  (D) Spiliting 
 ]uÖuÀ   ]¢xuÀ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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148. 1 Ground = 
1 ©øÚ Gß£x  

(A) 2200 sq.ft. (B) 2400 sq.ft. 

 2200 \xμ Ai  2400 \xμ Ai 

(C) 2500 sq.ft. (D) 2600 sq.ft. 
 2500 \xμ Ai  2600 \xμ Ai 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

149. Maximum permissible covered area if area of plot 501 sq.m to
1000 sq.m is 
501 \xμ «mh�À C¸¢x 1000 \xμ «mhº £μ¨£ÍÄ C¸¢uõÀ, 
AvP£m\©õP AÝ©vUP¨£k® �i¯ £Sv  

(A) 20.5% of the site area (B) 33.5% of the site area 

 ø\m £μ¨£ÍÂÀ 20.5%  ø\m £μ¨£ÍÂÀ 33.5% 

(C) 50% of the site area (D) 40% of the site area 
 ø\m £μ¨£ÍÂÀ 50%  ø\m £μ¨£ÍÂÀ 40% 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

150. __________ is a plan to draw a scale of not less than 1:10,000 
������ ¤Íõß 1:10,000 ì÷P¾US SøÓ¯õ©À Áøμ¯¨£kQÓx.  

(A) Key plan  (B) Site plan 

 R ¤Íõß  ø\m ¤Íõß 

(C) Master plan  (D) Building plan  
 ©õìhº ¤Íõß  Pmih ¤Íõß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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151. Only when harsh conditions, distances are short the __________ will
be used in total station.  
÷hõmhÀ ì÷håÛÀ PiÚ©õÚ `Ì{ø»°À ©mk®, yμ® SøÓÁõP 
C¸US® ÷£õx ������ £¯ß£kzu¨£k®.  

(A) Plane table and Alidade  

 ¤÷Íß ÷h¤Ò ©ØÖ® A¼÷hm  

(B) Surveyor�s compass 
 \º÷Á¯ºì Põ®£ì 

(C) Transit and tape  
 iμõßêm ©ØÖ® ÷h¨  

(D) Dumpy level and levelling staff 
 h®¤ ö»ÁÀ ©ØÖ® ö»Á¼[ ìhõ¨ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

152. Total stations are ideal for collecting __________ points.  
÷hõmhÀ ì÷håß ������ ¦ÒÎPøÍ ÷\P�UP HØÓx.  

(A) least number of (B) large number of 

 SøÓ¢u£m\ GsoUøP°»õÚ  AvP GsoUøP°»õÚ 

(C) small number of (D) medium number of 
 ]Ô¯ GsoUøP°»õÚ  |kzuμ GsoUøP°»õÚ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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153. Total station contain __________ that can detect small deviation of
the instrument from vertical.  
÷hõmhÀ ì÷håß ������ öPõskÒÍx, Cx ö\[SzuõP C¸¢x 
P¸Â°ß ]Ô¯ Â»Pø»U PshÔ¯ �i²®.  

(A) Vertical compensator (B) Horizontal compensator  
 ö\[Szx Põ®ö£ß÷\mhº  Qøh©mh Põ®ö£ß÷\mhº

(C) Operational key  (D) Toggle key 
 B¨÷μåÚÀ R  hõUQÀ R  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

154. Choose the wrong answer 
uÁÓõÚ £vø» ÷uº¢öukP.  

Following are the excellent hardware features of Total station.  
÷hõmhÀ ì÷håÛß ]Ó¢u Áßö£õ¸Ò A®\[PÒ ¤ßÁ¸©õÖ.  

(A) Laser plummet  

 ÷»\º ¤Í®ö©m   

(B) Endless drives  
 �iÁØÓ iøμÆPÒ  

(C) Antenna   
 BßöhÚõ   

(D) Optics with 30 x magnification  
 30 GUì E¸¨ö£¸UP® öPõsh JÎ°¯À  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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155. Choose the wrong answer 
uÁÓõÚ £vø» ÷uº¢öukP.  
In total station, it is possible to set required units for 
÷hõmhÀ ì÷håÛÀ ������US ÷uøÁ¯õÚ A»SPøÍ Aø©UP 
�i²®.  

(A) Distance  (B) Temperature  
 yμ®  öÁ¨£{ø» 

(C) Pressure (D) Time 
 AÊzu®   ÷|μ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

156. Total station permits observing __________ from a single setup.  
÷hõmhÀ ì÷håß J¸ Aø©¨¤¼¸¢x ������ PsPõoUP 
AÝ©vUQÓx.  

(A) Distances and levelling (B) Directions and levelling 

 yμ[PÒ ©ØÖ® ö»Á¼[  vø\PÒ ©ØÖ® ö»Á¼[ 

(C) Levelling and angles  (D) Distances and directions  
 ö»Á¼[ ©ØÖ® ÷Põn[PÒ   yμ[PÒ ©ØÖ® vø\PÒ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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157. Match the following  : 
¤ßÁ¸ÁÚÁØøÓ ö£õ¸zxP : 
Following are some methods of recording data electronically.  
ªßÚq �øÓ°À ÂÁμ[PøÍ £vÄ ö\´ÁuØPõÚ ]» �øÓPÒ 
¤ßÁ¸©õÖ.  
(a) Data recorders    1. memory cards 
 ÷hmhõ öμUPõºhºPÒ    {øÚÁP AmøhPÒ 
(b) Field computers   2. electronic field books 
 L¨¥Àk PoÛPÒ     G»UmμõÛU L¨¥Àk 
      ¦zuP[PÒ 
(c) Recording modules    3. no need of memory  card/
      data recorders  
 öμUPõºi[ ©õlÀì    ö©©� PõºkPÒ/÷hmhõ 
      öμUPõºhºPÒ ÷uøÁ°Àø» 

(d) Internal memories    4. hand-held computers  
 EÒ ö©©�PÒ     øP°À øÁzv¸US®  
      PoÛPÒ  

 (a) (b) (c) (d) 
(A) 4 1 3 2    
(B) 2 4 1 3     
(C) 3 2 4 1    
(D) 1 3 2 4     
(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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158. When the user first sets up the total station the choice of the zero
direction is made is  
£¯Úº �u¼À ÷hõmhÀ ì÷håøÚ Aø©US® ÷£õx, §äâ¯ vø\°øÚ 
÷uºÄ ö\´¯¨£kÁx ������ BS®.  

(A) Instrument North (B) Instrument South 

 P¸Â ÁhUS   P¸Â öuØS 

(C) Instrument West (D) Instrument East 
 P¸Â ÷©ØS  P¸Â QÇUS 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

159. Most modern total station instruments measure angles by means of
__________ scanning.  
ö£¸®£õ»õÚ |ÃÚ ÷hõmhÀ ì÷håß P¸ÂPÒ ������ ì÷PÛ[ 
�»® ÷Põn[PøÍ AÍÂkQßÓÚ.  

(A) Electro-optical  (B) 3D laser 

 G»Um÷μõ&B¨iPÀ   3i ÷»\º 

(C) Horizon  (D) Mechanical  
 íõ�áõß   C¯¢vμÂ¯À  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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160. The accuracies of measurements with the expensive total station can
run about  
ªP xÀ¼¯©õÚ Âø»²¯º¢u ÷hõmhÀ ì÷håÛß AÍÃkPÎß xÀ¼¯® 
©mk÷© _©õº ������ °ØS C¯[S®.  

(A) 5 mm/10 ppm (B) 3 mm/6 ppm 

 5 ª.«/10 ¤¤G®  3 ª.«/6 ¤¤G® 

(C) 2 mm/4 ppm (D) 1 mm/1 ppm 
 2 ª.«/4 ¤¤G®  1 ª.«/1 ¤¤G® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

161. In early days, ____________ classes of Total stations were available. 
Bμ®£ |õmPÎÀ, ____________ ÁøP¯õÚ ÷hõmhÀ ì÷håßPÒ QøhUP¨ 
ö£ØÖÒÍÚ.  

(A) one (B) two 

 JßÖ  Cμsk 

(C) three (D) four 
 �ßÖ  |õßS 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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162. Choose the correct answer: 
\�¯õÚ £vø» ÷uº¢öukUP : 

Following are the disadvantages of Total Station 
÷hõmhÀ ì÷håÛß wø©PÒ ¤ßÁ¸©õÖ : 
(i) Total Station should not be used for observations of the sun 

unless special filters are used 
 ]Ó¨¦ Ái¨£õßPÒ £¯ß£kzu¨£hõÂmhõÀ, `�¯øÚU PsPõoUP 

÷hõmhÀ ì÷håøÚ £¯ß£kzuUThõx 

(ii) Using Total Station does not provide hard copies of field notes.
 ÷hõmhÀ ì÷håøÚ £¯ß£kzxÁx {» SÔ¨¦PÎß Áß |PÀPøÍ 

öPõk¨£vÀø» 

(iii) Integration of database exporting map to GIS packages 
 ÷hmhõ ÷£ì]ß CßhQ÷μåß � â.I.Gì öuõS¨¦PÐUS 

÷©¨¦PøÍ HØÖ©v ö\´QÓx 

(iv) Coding to do automated mapping 
 uõÚõP C¯[S® ÷©¨¤ØS ÷Põi[ 

(A) (i) and (ii) are correct (B) (ii) and (iii) are correct 

 (i) ©ØÖ® (ii) \�¯õÚøÁ  (ii) ©ØÖ® (iii) \�¯õÚøÁ 

(C) (iii) and (iv) are correct (D) (i) and (iv) are correct 
 (iii) ©ØÖ® (iv) \�¯õÚøÁ  (i) ©ØÖ® (iv) \�¯õÚøÁ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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163. Fundamental measurements in Total station the distance between
the instrument and the target is 
÷hõmhÀ ì÷håß Ai¨£øh¯õÚ AÍÃmk �øÓ°À P¸ÂUS®, 
C»USUS® Cøh°»õÚ yμ® ____________ GÚ AøÇUP¨£kQÓx. 

(A) Horizontal Angle (B) Vertical angle 

 Qøh©mh ÷Põn®  ö\[Szx ÷Põn® 

(C) Line of sight (D) Slope distance 
 £õºøÁU ÷Põk  \õ´Ä yμ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

164. For phase shift system, a typical specification of measurement time
is ____________ to a single prism. 
÷£ì æ¨m Aø©¨¦US JØøÓ ¨�ézvß AÍÃmk ÷|μzvß ö£õxÁõÚ 
ÂÁμUSÔ¨¦  

(A) 1-2s (B) 2-4s 

 1&2Â  2&4Â 

(C) 3-6s (D) 4-8s 
 3&6Â  4&8Â 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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165. Match the following  : 
¤ßÁ¸ÁÚÁØøÓ¨ ö£õ¸zxP : 
(a) EDM settings 1. get ppm for the diagram from 

the manual of the equipment 
 C.i.G®. ö\mi[  E£Pμn[PÎß øP÷¯mi¼¸¢x 

Áøμ£hzvØPõÚ ¤¤G®&ø¯¨ 
ö£ÖuÀ 

(b) Communication 2. distance in meters, 
temperature in °C and 
pressure in hPa. 

 P®³ÛU÷Påß  yμ[PÒ «mhºPÎÀ öÁ¨£{ø» 

©ØÖ® AÊzu® °C ©ØÖ® 

AÊzu® hPa&À C¸zuÀ

(c) Atmospheric parameters 3. select IR laser, fire measuring 
mode, use R.L. with caution 

 ÁÎ©sh»zvÀ £õμõ«mhºPÒ  I.Bº.÷»\øμ ÷uºÄ ö\´uÀ, 
~so¯ AÍÂk® �øÓ, 
Ga\�UøP Ehß Bº.GÀ.&°øÚ 
E£÷¯õQzuÀ 

(d) Unit setting 4. set all parameters the same 
for a total station and data 
logger 

 ³Ûm ö\mi[  GÀ»õ £õμõ«mhºPøÍ²® J÷μ 
©õv�¯õP ÷hõmhÀ ì÷håß 
©ØÖ® uPÁÀ »õUPºUS 
Aø©zuÀ 

 (a) (b) (c) (d) 
(A) 4 2 3 1 
(B) 2 1 4 3  
(C) 3 4 1 2 
(D) 1 3 2 4 
(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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166. Setup of a Total Station, open the legs of the tripod to set the tripod
head at the level of the operators 
÷hõmhÀ ì÷håß Aø©zu¼À, C¯US£Á�ß ____________ ©mhzvÀ 
iøμ¨£õmiß uø» C¸US©õÖ PõÀPøÍz vÓUPÄ®. 

(A) eye (B) neck 

 Ps  PÊzx 

(C) shoulder (D) upper chest 
 ÷uõÒ£møh  ÷©À©õº¦ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

167. Following equipments are not in the Data Processing in Total 
Station 
¤ßÁ¸® G¢u E£Pμn[PÒ ÷hõmhÀ ì÷håß uPÁÀ ¤μõéìê[&À 
CÀø»? 

(A) Laptop computer with serial port  

 ^�¯À ÷£õºm Ehß ©iUPoÛ  

(B) Extra batteries  
 AvP¨£i¯õÚ ÷£mh�PÒ 

(C) Terminal Application  
 öhºªÚÀ ¤μ÷¯õP® 

(D) Application programme 
 ¤μ÷¯õQUS® ¦÷μõQμõ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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168. Following equipments are not in the prism set in Total Station 
¤ßÁ¸® E£Pμn[PÒ ÷hõmhÀ ì÷håß ¤�é® öuõS¨¤À CÀø» 

(i) Tribrach 
 iøμ¤μõma 

(ii) Prism 
 ¤�é® 

(iii) Tripod 
 iøμ¨£õm 

(iv) Centering rod 
 ö\ßh�[ P®¤ 

(A) (i) and (ii) (B) (ii) and (iv) 

 (i) ©ØÖ® (ii)  (ii) ©ØÖ® (iv) 

(C) (i) and (iii) (D) (ii) and (iii) 
 (i) ©ØÖ® (iii)  (ii) ©ØÖ® (iii) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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169. Match the following  : 
¤ßÁ¸ÁÚÁØøÓ¨ ö£õ¸zxP : 
Equipments are to be need for Total Station surveying 
÷hõmhÀ è÷håß \º÷ÁUS ÷uøÁ¯õÚ E£Pμn[PÒ 

(a) Total Station set 1. Prism holder 
 ÷hõmhÀ ì÷håß ö\m  ¤�é® ¤i¨£õß 
(b) Prism set 2. Field notes 
 ¤�é® ö\m  L¥Àk ÷|õmì 
(c) Data Processing 3. Tripod 
 uPÁÀ ¤μõéìê[  iøμ¨£õm 
(d) Survey tools 4. Laptop computer with USB port 
 \º÷Á P¸ÂPÒ  ³.Gì.¤. ÷£õºm Ehß ©iUPoÛ 

 (a) (b) (c) (d) 
(A) 3 1 4 2 
(B) 1 3 2 4  
(C) 4 2 1 3 
(D) 2 4 3 1 
(E) Answer not known 
 Âøh öu�¯ÂÀø» 

170. Find the sum of the interior angles of a Closed polygon trasverse
that has 12 sides? 
12  £UP[PøÍU öPõsh �iÄØÓ £»÷Põn mμõÁºêß Em÷Põn[PÎß 
Tmkz öuõøPø¯ PshÔ¯Ä® 

(A) 980° (B) 1080° 

(C) 1800° (D) 1980° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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171. Sequence the aim of EDM instrument operation 
C.i.G®. P¸Â ö\¯À£õmiß ÷|õUPzøu Á�ø\¨£kzuÄ® 

(i) When the cross hair is sight on target, the electronic signal 
will be maximized at the centre of the prism 

 Qμõì ÷íº C»UQÀ C¸US® ÷£õx, ªßÚq ]UÚÀ ¨�ézvß 
ø©¯zvÀ AvP�UP¨£k® 

(ii) The EDM is aimed at the prism by using either the built in 
sighting devices on to EDM 

 C.i.G®.&À EÒÍ EÒÍø©UP¨£mh £õºøÁ \õuÚ[PøÍ¨ 
£¯ß£kzxÁuß �»® C.i.G®. ¨�ézøu SÔU÷PõÍõP EÒÍx 

(iii) Set the electronic signal precisely on the prism centre 
 ªßÚq ]UÚø» xÀ¼¯©õP ¨�ézvß ø©¯zvÀ Aø©UPÄ® 

(iv) Telescope will have the optical line of sight a bit lower than 
the electronic signal. 

 öuõø» ÷|õUQ¯õÚx, ªßÚq ]UÚø» Âh \ØÖ SøÓÁõÚ 
£õºøÁU ÷Põmøh öPõsi¸US®. 

(A) (i), (iii), (iv) and (ii) (B) (ii), (iv), (i) and (iii) 

 (i), (iii), (iv) ©ØÖ® (ii)  (ii), (iv), (i) ©ØÖ® (iii) 

(C) (iv), (i), (iii) and (ii) (D) (iii), (ii), (iv) and (i) 
 (iv), (i), (iii) ©ØÖ® (ii)  (iiii), (ii), (iv) ©ØÖ® (i) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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172. In Total Station survey, distances are booked simply as 
÷hõmhÀ ì÷håß \º÷Á°À yμ[PÒ \õuõμn©õP ____________ BP £vÄ 
ö\´¯¨£mkÒÍx. 

(A) chainages (B) dimensions 

 ö\°ßHáì  øhö©såßì 

(C) lines (D) stations 
 ÷PõkPÒ  ì÷håßPÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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173. Sequence the procedure for data collection after setting the
co-ordinates in total station are following 
÷hõmhÀ ì÷håÛÀ J¸[Qøn¨¦PøÍ Aø©zu ¤ÓS ÂÁμ[PÒ 
÷\P�¨¦UPõÚ ö\¯À�øÓø¯ Á�ø\¨£kzuÄ®.  

(i) Set back sight name and reflector height and observe the 
co-ordinate of it and record the data 

 ¤ß£õºøÁ°ß ö£¯º ©ØÖ® ¤μv£¼¨£õß E¯μzøu Aø©UPÄ® 
©ØÖ® Auß J¸[Qøn¨ø£U PÁÛzx ÂÁμzøu¨ £vÄ ö\´¯Ä®. 

(ii) For detailing, set detail point name and reflector height and 
record the data of different location  

 ÂÁ�¨£uØS ÂÁμ¨ ¦ÒÎ°ß ö£¯º ©ØÖ® ¤μv£¼¨£õß E¯μzøu 
Aø©UPÄ® ©ØÖ® öÁÆ÷ÁÖ Ch[PÎß ÂÁμzøu¨ £vÄ 
ö\´¯Ä®.  

(iii) Measure the foresight station and record the data 
 �ß£õºøÁ ì÷håøÚ AÍ¢x, ÂÁμzøu¨ £vÄ ö\´¯Ä®. 

(iv) Give name for foresight station and set reflector height  
 �ß£õºøÁ ì÷håÛØS ö£¯øμU öPõkUPÄ® ©ØÖ® 

¤μv£¼¨£õß E¯μzøu Aø©UPÄ®.  

(v) Power off the instrument  
 P¸Âø¯ AønUPÄ® 

(A) (iii), (i), (iv), (ii) and (v) (B) (iv), (ii), (i), (iii) and (v) 

 (iii), (i), (iv), (ii) ©ØÖ® (v)  (iv), (ii), (i), (iii) ©ØÖ® (v) 

(C) (i), (iv), (iii), (ii) and (v)  (D) (ii), (iii), (i), (iv) and (v)  
 (i), (iv), (iii), (ii) ©ØÖ® (v)  (ii), (iii), (i), (iv) ©ØÖ® (v) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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174. __________ take the form of plug-in cards onto which data is 
magnetically encoded by a total station.   
______________ ¤ÍU&Cß PõºkPÎß ÁiÁzøu GkUS® ÷hõmhÀ 
ì÷håÚõÀ ÂÁμ® Põ¢u©õP SÔ¯õUP® ö\´¯¨£kQÓx.  

(A) Field computer (B) Recording modules 

 L¨¥Àk PoÛPÒ   öμUPõºi[ ©õlÀì 

(C) Pocket calculator  (D) Field books  
 £õUöPm PõÀS÷»mhºPÒ   L¨¥Àk ¦zuP[PÒ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

175. In Rapid measurement, measurement time to a prism is between  
ÂøμÁõÚ AÍÃmiÀ, J¸ ¨�ìªß AÍÂk® ÷|μ® _________ US 
Cøh°À C¸US®. 

(A) 0.5 and 1�s (B) 1�s and 2�s 

 0.5 ©ØÖ® 1�s  1�s ©ØÖ® 2�s 

(C) 2�s and 3�s (D) 3�s and 4�s 
 2�s ©ØÖ® 3�s  3�s ©ØÖ® 4�s 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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176. During chaining sometimes rivers, ponds, builders, hills, thick
jungle may prevent the chainman to take the measurements directly 
is called  
ö\°Û[ ö\´²®÷£õx, ]» ÷|μ[PÎÀ, BÖPÒ, SÍ[PÒ, Pmih[PÒ, 
©ø»PÒ, Ahº¢u PõkPÒ CøÁö¯À»õ® ö\°ß |£øμ ÷|μi¯õP AÍÄPÒ 
GkUP Âhõ©À uk¨£x ������ GÚ AøÇUP¨£kQÓx.  

(A) observation (B) obstacles 

 PÁÛ¨¦  uøhPÒ  

(C) resection  (D) offsetting  
 �ö\Uåß  BL¨ö\mi[ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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177. Name of the figure is  

 
£hzvß ö£¯º Gøu SÔUQÓx? 

 

(A) Ranging Across a Hill 
 J¸ ©ø»°ß SÖU÷P ÷μsâ[ ö\´uÀ    

(B) Ranging Across a Valley  
 J¸ £ÒÍzuõUS SÖU÷P ÷μsâ[ ö\´uÀ  
(C) Ranging Across a Hip  
 J¸ î¨&ß SÖU÷P ÷μsâ[ ö\´uÀ   

(D) Ranging Across a Cable 
 J¸ ÷P¤Ò SÖU÷P ÷μsâ[ ö\´uÀ  
(E) Answer not known 
 Âøh öu�¯ÂÀø» 



   490-SURVEYOR AND 
  DRAUGHTSMAN(CIVIL) 
  [Turn over 

93

178. The stations other than main stations are called as 
ö©°ß ì÷håß AÀ»õu ©ØÓ ì÷håßPÒ ______________
GßÓøÇUP¨£kQÓx.  

(A) totally station (B) Sub station 

 ÷hõmh¼ ì÷håß  é¨ ì÷håß 

(C) tie station (D) Subsidiary station 
 øh ì÷håß   é¨êh� ì÷håß  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

179. A line joining some fixed points on any two lines in a main survey
line is known as  
ö©°ß \º÷Á ø»ÛÀ H÷uÝ® Cμsk ÷PõkPÎß ÷©À C¸US® ]» 
{ø»¯õÚ ¦ÒÎPøÍ CønUS® ÷Põk ______________ GßÓøÇUP¨£kQÓx. 

(A) base line (B) check line 

 ÷£ì ø»ß  ö\U ø»ß 

(C) running survey line (D) tie line 
 μßÛ[ \º÷Á ø»ß  øh ø»ß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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180. A series of connected survey lines of known lengths and directions is
called as  
öu�¢u }Í[PÒ ©ØÖ® vø\PÒ Eøh¯ CønUP¨£mh \º÷Á ø»ßPÎß 
öuõhº BÚx ______________ GßÓøÇUP¨£kQÓx.  

(A) check line (B) base line 

 ö\U ø»ß  ÷£ì ø»ß 

(C) triangulation  (D) traverse 
 møμ¯õ[S÷»åß  mμõÁºì 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

181. ������������ consists of a hollow octagonal box. 
������������ BÚx J¸ öÁØÖ Gs÷Põn¨ ö£miø¯U öPõskÒÍx. 

(A) French cross staff (B) Open cross staff 

 ¤öμga Qμõì ìhõ¨  K£ß Qμõì ìhõ¨ 

(C) Optical square (D) Site square 
 B¨iUPÀ ìöPõ¯º  ø\m ìöPõ¯º 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

182. ������������ is a modern and precise instrument and is used in a
similar manner. 
������������ J¸ |ÃÚ ©ØÖ® xÀ¼¯©õÚ P¸Â ©ØÖ® Jzu �øÓ°À 
£¯ß£kzu¨£kQÓx. 

(A) Site square (B) Prism square 

 ø\m ìöPõ¯º  ¤�\® ìöPõ¯º 

(C) Optical square (D) French square 
 B¨iUPÀ ìöPõ¯º  ¤öμga ìöPõ¯º 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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183. Calculate the given Triangular plot area 
öPõkUP¨£mkÒÍ �U÷Põn ©øÚ°ß £μ¨£ÍøÁ PnUQkP. 

 

(A) 390.75 sqm (B) 393.25 sqm
 390.75 \xμ«  393.25 \xμ« 

(C) 393.75 sqm (D) 395.75 sqm 
 393.75 \xμ«  395.75 \xμ« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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184. Calculate the given triangular plot area 
öPõkUP¨£mh �U÷Põn ¤Íõm £μ¨£ÍøÁ PnUQk[PÒ 

 

(A) 380 sqm (B) 360 sqm 

 380 \xμ«  360 \xμ« 

(C) 340 sqm (D) 350 sqm 
 340 \xμ«  350 \xμ« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

185. In chain survey, ������������ are taken to the boundary points in the
order of their chainages on both the sides of the base line.  
ö\°ß \º÷Á°À, ÷£ì ø»Ûß Cμsk £UP[PÎß «xÒÍ ö\°÷Úáêß 
Á�ø\U Qμ©zvÀ GÀø»¨ ¦ÒÎPÐUS ������������ GkUP¨£kQÓx. 

(A) Offsets (B) Fields 

 BL¨ö\mì  PÍ[PÒ 

(C) Areas (D) Readings 
 £μ¨£ÍÄPÒ  �i[SPÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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186. Match the following in plane table surveying : 
¤÷Íß ÷h¤Ò \º÷Á°À ¤ßÁ¸ÁÚÁØøÓ¨ ö£õ¸zxP : 
(a) Instrumental error  1. By taking care in drawing and in 

the use of scales   
 P¸Â°ß ¤øÇ   ÁøμuÀ ©ØÖ® AÍÄPÒ 

£¯ß£kzxÁvÀ PÁÚ® 
ö\¾zxÁuß �»® 

(b) Errors of manipulation 2. Tracing paper method 
 and sighting 
 øP¯õÐuÀ ©ØÖ®   i÷μ][ ÷£¨£º �øÓ 
 £õº£vÀ ¤øÇ 
(c) Errors of plotting  3. The objects not being correctly 

sighted 
 ¤Íõm ö\´²® ÷£õx   B¨öáUmøh \�¯õP £õºUPõ©À 

HØ£k® ¤øÇPÒ    C¸¨£x 
(d) Mechanical method  4. The edge of the alidade not being 

a straight line 
 ö©UPõÛUPÀ �øÓ   A¼÷hiß ÂÎ®¦ ÷|º÷PõhõP 

CÀ»õ©À C¸¨£x 

 (a) (b) (c) (d) 
(A) 1 2 3 4    
(B) 4 3 1 2     
(C) 3 4 2 1    
(D) 2 1 4 3    
(E) Answer not known 
 Âøh öu�¯ÂÀø»
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187. The working edge of the alidade is called 
A¼÷hmiß öÁõºUQ[ ÂÎ®£õÚx ������������ GßÖ AøÇUP¨£kQÓx.

(A) Fiducial edge (B) Ebony edge 

 L¤k]¯õÀ ÂÎ®¦  G£õÛ ÂÎ®¦ 

(C) Common edge (D) Alidade edge 
 ö£õx ÂÎ®¦  A¼÷hm ÂÎ®¦ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

188. Match the following  : 
¤ßÁ¸£ÁÚÁØøÓ ö£õ¸zxP : 
(a) 30 m chain   1. Brass tallies 
 30 « ö\°ß    ¤zuøÍ uõ¼ì 
(b) 20 m chain   2. 150 links 
 20 « ö\°ß    150 ¼[USPÒ 
(c) Every 5 m length   3. 20 cm 
 JÆöÁõ¸ 5 « }Í®    20 ö\.«. 
(d) Each link having   4. 100 links 
 JÆöÁõ¸ ¼[UQß }Í®   100 ¼[USPÒ 

 (a) (b) (c) (d) 
(A) 3 1 2 4    
(B) 1 2 4 3 
(C) 2 4 1 3    
(D) 4 3 1 2    
(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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189. Error in area due to incorrect chain.  

True area = ������������. 
SøÓ£õk EÒÍ ö\°ÚõÀ, £μ¨£ÍÂÀ HØ£k® ¤øÇ. 
Esø©¯õÚ £μ¨£ÍÄ = ������������. 

(A) Measured area 
2

1L

L






×   

 AÍUP¨£mh £μ¨£ÍÄ 
2

1L

L






×  

(B) Measured area 
L
L1

×  

 AÍUP¨£mh £μ¨£ÍÄ 
L
L1

×  

(C) Measured area 
21

L
L








×   

 AÍUP¨£mh £μ¨£ÍÄ 

21

L
L








×  

(D) Measured area 
1L

L×  

 AÍUP¨£mh £μ¨£ÍÄ 
1L

L×  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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190. The horizontal distance of the sloping ground is calculated by the
formula 
\õ´ÁõÚ {»zvß Qøh©mh yμ® ������������ `zvμzuõÀ 
PnUQh¨£kQÓx. 

 

(A) θcosA1BD l==  (B) θcosA1BD ==  

(C) θcosABD l==  (D) ABcosD == θl  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

191. The process of measuring lateral distance from the chainline to the
objects which are to be plotted is called as 
ö\°ß ÷Põmi¼¸¢x ¤Íõm ö\´¯ ÷Ási¯ C»UQØS £UPÁõmk yμzøu 
AÍÂk® ö\¯À�øÓ ������������ GÚ AøÇUP¨£kQÓx.

(A) Offset (B) Chaining 

 BL¨ö\m  ö\°Û[ 

(C) Offsetting (D) Ranging 
 BLö\mi[  ÷μßâ[ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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192. The measurement on the chain line is recorded as 
ö\°ß ø»ÛÀ GkUP¨£k® AÍÄPÒ ������������ GßÖ £vÄ 
ö\´¯¨£kQÓx. 

(A) Ranging (B) Offsetting 

 ÷μßâ[  BL¨ö\mi[ 

(C) Chainage (D) Lateral distance 
 ö\°ßHä  £UPÁõmk yμ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

193. ������������ is done to locate the objects with reference to the
chainline. 
ö\°ß ø»øÚ Buõμ©õPU öPõsk C»USPøÍU PshÔ¯ ������������
ö\´¯¨£kQÓx. 

(A) Offset (B) Ranging 

 BL¨ö\m  ÷μßâ[ 

(C) Offsetting (D) Chaining 
 BL¨ö\mi[  ö\°Û[ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

194. Limits of error in 20 m chain is ������������ mm. 
20« ö\°Ûß ¤øÇ°ß Áμ®¦PÒ ������������ ª« BS®. 

(A) 8±  (B) 5±  

(C) 5+  (D) 4±  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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195. In errors in chain, due to chain not being straight is called
������������ error. 
\[Q¼ ¤øÇPÎÀ, \[Q¼ ÷|μõP CÀ»õuuõÀ HØ£kÁx ������������ ¤øÇ 
GÚ AøÇUP¨£kQÓx. 

(A) Natural (B) Personal 

 C¯ØøP¯õÀ HØ£k®  uÛ|£μõÀ HØ£k® 

(C) Instrumental (D) Artificial 
 P¸Â¯õÀ HØ£k®  ö\¯ØøP¯õP HØ£k® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

196. The process of establishing intermediate points in line with the 
terminal points before chaining is known as 
ö\°Û[QØS �ßÚuõP öhºªÚÀ ¦ÒÎPÒ Ehß ø»ÛÀ C¸US® 
£i¯õP ¦ÒÎPÒ E¸ÁõUS® ö\´�øÓ BÚx ������������ GÚ 
AÔ¯¨£kQÓx. 

(A) Offsetting (B) Measuring 

 BL¨ö\mi[  AÍÂkuÀ 

(C) Ranging (D) Testing 
 ÷μßâ[  ÷\õuøÚ ö\´uÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

197. Indirect ranging is also called ������������ ranging. 
©øÓ�P ÷μßâ[ ������������ ÷μßâ[ GßÖ® AøÇUP¨£kQÓx. 

(A) Combined (B) Double 

 Cøn¢u  Cμmøh 

(C) Reciprocal (D) Single 
 öμ]¦÷μõUPÀ  JØøÓ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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198. Among the following identify which is correct : 
¤ßÁ¸ÁÚÁØÔÀ Gx \�¯õÚx : 
 Signal by the surveyor  Action by the assistant 
 \º÷Á¯º Põmk® ø\øPPÒ  AuØ÷PØ£ EuÂ¯õÍ�ß 

ö\¯À£õkPÒ  

(1) Rapid sweep with right  � Move considerably to the right  
 or left hand    or left 
 Á»x AÀ»x Chx øP   Á»¨¦Ó® AÀ»x Ch¨¦Ó® ÷|õUQ 
 öPõsk ÂøμÁõP ìÃ¨    ªSv¯õP |PºuÀ 
 ö\´uÀ 
(2) Right or left arm   � Fix the rod 
 extended 
 Á»x AÀ»x Chx    μõøh ö£õ¸zuÄ® 
 ÷uõÒ£møh }mkuÀ     

(3) Slow sweep with right  � Move slowly to the right or left 
 or left hand  
 Á»x AÀ»x Chx øP   Á»x¦Ó® AÀ»x Ch¨¦Ó® ÷|õUQ
 öPõsk ö©xÁõP ìÃ¨   ö©xÁõP |PºuÀ 
 ö\´uÀ 
(4) Both hands above head  � Plumb the rod to the right or left
 and then brought down 
 Cμsk øPPøÍ²® uø»US  μõøh Á»x¦Ó® AÀ»x Chx¦Ó® 
 ÷©À yUQ ¤ßÚº R÷Ç    ¤Í®¨ £squÀ 
 öPõsk Á¸uÀ 

(A) (2), (4) only correct (B) (1), (4) only correct 

 (2), (4) ©mk® \�¯õÚx  (1), (4) ©mk® \�¯õÚx 

(C) (2), (3) only correct (D) (1), (3) only correct 
 (2), (3) ©mk® \�¯õÚx  (1), (3) ©mk® \�¯õÚx 

(E) Answer not known 
 Âøh öu�¯ÂÀø»
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199. The earth surface is assumed as plane and the corrective of the
earth is original is known as  
§ª°ß ÷©Ø£μ¨¦ J¸ \©uÍ©õP P¸u¨£kQÓx ©ØÖ® §ª°ß A\À 
ußø©ø¯ \�ö\´Áx ������������ GÚ AøÇUP¨£kQÓx. 

(A) Plane surveying (B) Geodetic surveying 

 ¤÷Íß \º÷Á°[  â÷¯õiiU \º÷Á°[

(C) Marine surveying (D) Astronomical surveying 
 ö©øμß \º÷Á°[  ÁõßPou \º÷Á°[  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

200. 1 cent = ������������ m2. 
1 ö\ßm = ������������ \xμ«. 

(A) 40.41 (B) 40.45 

(C) 40.42 (D) 40.47 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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